








Home Share View

E Cut | . 3 Y New item = g open -
% u k'*. 2 x @ ew item [ Open
% Copy path . -:El Easy access * Edit
Copy Paste Move Copy Delete Rename Mew Properties
[2] Paste shorteut g+ o~ 3 Foldor E: i3 History

Clipboard Organize Open

/ » ThisPC » Local Disk () » Program Files » OpenDSS » Examples » Paulo_Example
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sers\HP\Desktop\open

OpenDSS Data Directory: CA\Users\HP\Desktop\openDS5\Paulo_Example\DS5Files\,

Make Export Show Visualize Plot Reset Help

| = | ST

Paulo_Exampl

w | \Vsource w |

iles\MASTER_RedeTestel3Barras.

vlc\f P||

. | x P | |Base Frequency = 60 Hz

vﬁ‘{f

<5 | Version 9.1.0.1 (64-bit buid)

2
/7 Ezcola Politécnica da USP
/7 PEA

27 Autor

Il HNome: Paulo Radatz
2 NUSP: 6905560

L

L
2

/4 Modelagem da rede teste IEEE 13 barras
2

/7 No Apéndice A do meu TCC se encontra toda a explicagdo para rodar os diferente;

2
//Reinicia o programa

Clear

Ll

2/ Files que descrevem o circuito

Redirect subestacao_ dssz
Redirect linecodes_dss
Redirect lines.dss

Redirect loadshape._dss
Redirect loads.dss

Redirect capacitors. dss
Redirect transformer_sub_dss
Redirect transformer_dss
Redirect regulators_dss
Redirect switches.dss

IR edirect wind_power.dss
IR edirect wind_control.dss

IR edirect pvspstemexrample. dss
IRedirect volt_var_pv.dss

| Padirect stnrane nowear des

T 1 « Paulo_Example » DSSFiles

Organize -

| @ Downloads

“Zl Recent places

-

3F Your tearmn Dropk

f@. OneDrive

i@ Homegroup

18| This PC

Mew folder

Lo Mame

| capacitors.dss
| command_monitor_pw.dss
: command_monitor_storage.dss
;| command_monitor_sub.dss
1 command_monitor_wind.dss
1 linecodes.dss
|| lines.dss
|| loads.dss
L]

|| MASTER_RedeTestel3Barras.dss

u monitor_storage.dss
=z .

W

¢

Search D55F

Date medified

1/8/2016 2:33 A
1/8/2016 2:33 A
1/8/2016 2:33 A
1/8/2016 2:33 A
1/8/2016 2:33 A
1/8/2016 2:33 A
1/8/2016 2:33 A
1/8/2016 2:33 A
1/8/2016 2:33 A
1/8/2016 2:33 A
1/8/2016 2:33 A
1/8/2016 2:33 Al

File name: ||

v| | DSS files (.

Main |MASTER_RedeTesﬁel3Barras.dss

M‘-‘5539951 OpenDSS - C:\Program Files\OpenDSS\IEEET estCases\13Bus\IEEE13Nodeckt.dss




File Edit Do Set Make Export Show \Visualize Plot Reset Help

v@®ec v op

e | ¥ 3 | Base Frequency = 60 Hz

v|& 4| & Version 9.1.0.1 (64-bit build)

Redirect subestacao.dss
Redirect
Redirect lines.dss

Redirect loadshape.dss
Redirect loads_dss

Redirect capacitors.dss
Redirect transformer_sub.dss
Redirect transformer_dss
Redirect regulators_dss
Redirect switches.dss

Redirect tenzao_basze dss
ITransformer. RegFaseA Taps=[1.0 1.0
ITransformer. RegFaseB_Taps=[1.0 1.0
ITransformer.RegFazeC.Taps=[1.0 1.0
15et Controlmode=0FF

Isolve maxcontrol=100

Do Selected

Save This Window

Close Window

Change to this Directory
Open Selected File

Edit Selected File

Change Font...

|Main | MASTER_RedeTeste13Barras.dss | subestacao.dss | linecodes.dss|

Summary |R£‘-5H|t5|

Messages OpenDS5 - C:\Users\HP\Desktop\openDSS\Paulo_Example\D55Files\MASTER_RedeTestel3Barras.dss

Memaory: 41708K

Mo Active Circuit

X

&19PM
10/8/2020
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File Edit Do Set Make Export Show Visualize Plot Reset Help

5o %GB ® B EEET oo JBe v r|| ®|X g |[Buse Frequency - 60 iz

s\HP\Desktop\openDSS\Paulo_Exam |E-'\D._.._.FI|EH\I'\"|H TER_RedeTestel3Barra w | = aél -ﬁ-|‘u’er5i0n 9.1.0.1 (84-bit build) ||

|42 1
/4 Dados dos ammanjos.

27 601

Mew linecode 601 nphases=3 BaseFreq=60

~ rmatrnx = [0.2153 | 0.09639 02097 | 0.0982 0.0954 0.2121)

~ wmatrix = [0.6325 | 0.3117 0.6511 1 0.2632 0.2392 0.6430)

~ cmatrix = [10.3833 1 -3.2894 9.8228 | -2.0759 -1.2225 9.2936)
= unitz=km

/7 602

Mew linecode 602 nphases=3 BaseFreq=60

~ rmatrnx = [0.4676 | 0.0982 0_4645 | 0.0969 0.0954 0.4621 )
~ wmatrix = [0.7341 | 0.2632 0.7446 | 0.3117 0.2392 0.7526 )
~ cmatrix = [9.3931 1 -1.7828 8.5369 | -2.7862 -1.0859 8.9508)
= unitz=km

/7 603

Mew linecode 603 nphases=2 BaseFreq=60
~ rmatrnix = [0.8261 | 0.1284 0.8226)

=~ wmatrix = [0.8370 | 0.2853 0.8431)

~ cmatrix = [7.7626 | -1_4833 7.6902)

~ units=km

/7 604

Mew linecode 604 nphases=2 BaseFreq=60
~ rmatrnix = [0.8226 | 0.1284 0.8261)

~ wmatrix = [0.8431 | 0.2853 0.8370)

~ cmatrix = [7.6902 | -1.4833 7.7626)

= unitz=km

/7 605

Mew linecode 605 nphases=1 BaseFreq=60

-~ rmatnx = [0.8259]
™ wmnabniv = (08370

Main | MASTER_RedeTestel3Barras.dss | 5uhe5tacao.d55| linecodes.dss

Messages OpenDSS - C\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\linecodes.dss

Summary |Rﬂ5Uﬂ5|




File Edit Do 5Set Make

lﬁ-lat‘aﬁﬁﬂlIll

Export Show Visualize

Plot
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W |GICsou rce

il

iles\MASTER

LedeTestel3Barr

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Snap
Mumber = 100

Load Mult = 1.000
Devices = 39

Buses = 16

Modes = 41

Control Mode =STATIC
Total Iterations = 11
Control Iterations = 3
Max Sol Iter = 4

- Circuit Summary -

Year =0
Hour =0

Redirect zubestacao.dss
Redirect inecodes_dss
Redirect ines_ dss

Redirect loadzhape.dss
Redirect loads_dss

Redirect capacitors.dss
Redirect tranzformer_sub.dss
Redirect tranzformer.dss
Redirect reqgulators.dss
Redirect switchesz_ dss

Redirect tenzao_base.dss

solve

Ctrl+A and Ctrl+D

tort  Show \Visualize Plot Reset Help

Source/Fault | GICsource || |

) Example\DSSFiles\MASTER._|

1

} Configura&§A£o tenshfo de base.

ITransformer RegFaseA Taps=[1.0 1.0]
ITransformer. BegFaseB.Taps=[1.0 1.0]
ITransformer. RegFaseC.Taps=[1.0 1.0]
15et Controlmode=0FF

Max pu. voltage = 1.0562

Min pu. voltage = 0.96102

Total Active Power: 3.56706 MW
Total Reactive Power: 1.73636
Mwar

Total Active Losses:
MW, (3.143 %)
Total Reactive Losses: 0.327706
Mwar

Frequency = 60 Hz

Mode = Snap

Control Mode = STATIC

Load Model = PowerFlow

Set Yoltagebases=[115, 4.16, .48, 69]
CalcYoltageB ases

BusCoords IEEE13Node_BusXY_csy
New energymeter.ml line. 650632 1

Izolve maxcontrol=100 "

0.112108




File Edit View About

e| ejOje]

]

|EEE13BARRAS:Power, max=2E003

all

le\DSSFiles\MAS

i RedeTestel3Barras.dss v|ﬁ' & | &

Results for Actor ID # 1
CPU selected : O
Status = SOLVED
Solution Mode = Snap
Mumber = 100

Load Mult = 1.000
Devices = 39

Buses = 16

Modes = 41

Control Mode =5TATIC
Total Iterations = 11
Control Iterations = 3
Max Sol Iter = 4

- Circuit Summary -

Year =0

Hour =0

Max pu. voltage = 1.0562

Min pu. voltage = 0.96102

Total Active Power: 3.56706 MW
Total Reactive Power: 1.73636
Mwar

Total Active Losses: 0.112103
MW, (3. 143 %)

Total Reactive Losses: 0,327708
Mwar

Frequency = 60 Hz

Mode = Snap

Control Mode = STATIC

Load Model = PowerFlow

Clear

Redirect zubestacao._dss
Redirect inecodes. dss
Redirect ines.dss

Redirect loadshape._dss
Redirect loads_dss

Redirect capacitors.dss
Redirect transformer_sub_dss
Redirect transformer.dss
Redirect regulators.dss
Redirect switches_ dss

Redirect tenzao_base_dss

solve
ITranzformer.RegFaseA_Taps=[1.0 1.0]
ITranzformer.RegFaseB . Taps=[1.0 1.0]
ITranzformer.RegFaseC._Taps=[1.0 1.0]
15et Controlmode=0FF

Izolve maxcontrol=100
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Reset Help

B B| b d;” IEIl Source/Fault vGICsource v~|H
sers\HP\Deskto\oenDSS\Paqu Example\DSSFiles\MASTER_RedeT este13Barras. dsRv3L'=2 d.’l &

Resdts for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Snap
Number = 100

Load Mult = 1.000
Devices = 39

Buses = 16

Nodes = 41

Control Mode =STATIC
Total Iterations = 11
Control Iterations = 3
Max Sol Iter = 4

- Circuit Summary -

Year =0

Hour =0

Max pu. voltage = 1.0562

Min pu. voltage = 0.96102

Total Active Power: 3.56706 MW
Total Reactive Power: 1.73636
Mvar

Total Active Losses: 0.112108
MW, (3.143 %)

Total Reactive Losses: 0.327706
Mvar

Frequency = 60 Hz

Mode = Snap

Control Mode = STATIC

Load Model = PowerFlow

iCIear

'Redirect subestacao.dss
'Redirect linecodes.dss
|Redllect lines.dss
'Redirect loadshape.dss
'Redirect loads.dss
'Redirect capacitors.dss
'Redirect transformer_sub.dss
'Redirect transformer.dss
‘Redirect regulators.dss
'Redirect switches.dss

:Rednecl tensao_base.dss
|!Translormel RegFaseA.Taps=[1.0 1.0]
ITransformer. RegFaseB.Taps=[1.0 1.0]

ITransformer.RegFaseC.Taps=[1.0 1.0]
i!Sel Controlmode=0FF

Isolve maxcontrol=100



Show | Visualize Plot

Reset Help

C:\Users\HP\Desktop\ope

0SS\Paula

Summary

vl

VB e v op ]

- | X @ | |Base Frequency = 60 Hz

Voltages

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Snap
MNumber = 100

Load Mult = 1.000
Devices = 39

Buses = 16

Modes = 41

Control Mode =STATIC
Total Iterations = 11
Control Iterations = 3
Max Sol Iter = 4

- Circuit Summary -

Year =0

Hour =0

Max pu. voltage = 1.0562

Min pu. voltage = 0.96102
Total Active Power:  3.56706 MW
Total Reactive Power: 1.73636
Muvar

Total Active Losses: 0.112108
MW, (3,143 %)

Total Reactive Losses: 0,327706
Muvar

Frequency = 60 Hz

Mode = Snap

Control Mode = STATIC

Load Model = PowerFlow

Cle
17

Currents

Powers

Buses

BusFlow...
Converged
Elements
Elements in Class
Energy Meters
Event Log
Generators
Isolated

Losses

kV Base Mismatch
Line Constants ...
Loops

Mismatch

Taps

Monitor [monitor]
Zone [meter]
Zone [meter] Treeview

List ...

Voltages LN <+
Voltages LL

Veoltages LN Nodes <&———
Voltages LN Elements <€—

Voltage LL Nodes

Main

MASTER_RedeTestel3Barras.dss

Summary |RBEH|15|

Messages

Main

Memeorny: 43632K

Circuit Status: SOLVED

Total lterations = 11, Control lterations = 3, Max Solution lterations = 4




OpenDSS Data Directory: C\Users\HP\Desktop\openDS5\Paulo_Example\DS5Files),
File Edit Do S5et Make Export Show Visualize Plot Reset Help

| &3 B 8 F| ceneral v |CData vl v@® c v p|| ®|X @ |[BaseFrequency = 60 Hz
C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\MASTER_RedeTestel3Barras. v‘D 5? | 4

Results for Actor ID # 1 Clear
CPU selected : 0 . . .
Status = SOLVED - IPRPRNTPOIIPN File Edit Format View Help
Solution Mode = Snap /7 Files que des
Number = 100
Load Mult = 1,000 Redirect subest: | SYMMETRICAL COMPOMENT VOLTAGES BY BUS (for 3-phase buses)
Devices = 39 Hedirect Iineco
i) e e U8 Bus Mag: V1 (KV)  p.u. V2 (kV)  W2/V1 V@ (kV)  %ve/vi
Contral Mode =5TATIC Hedirect Ioads.
S et Redirect canacll sourcebus 66.4 1 4.835£-008 7.282E-008 4.319E-809 6.505E-009
Max Sol Tter = 4 Rediroct bansfoll Meg 2.522 1.5  0.01499 8.5944 0.015  8.5947

N Redirect regulat | 632 2.44 1.016  0.81216 9.4982  0.82585 1.027
R Radirdctsesoha 70 2.422 1.009  0.02229 0.92 0.04401 1.817
Year =0 Redirect tensao, | 671 2.392 8.9959  0.94212 1.761 0.88255 3.451
;:i“"mlmge:mm | 630 2.392 0.9959  ©.84212 1.761 ©.88255 3.451
M . volbace: = 0.96102 sove 633 2.434 1.013  ©.01218 0.5006 ©.82592 1.865
Total Active Power: 356706 MW 645 2.408 1.862 a 8 a
L-:::rl Reactive Power: 1.73636 646 2,493 1 8 ) )
Total Active Losses: 0.112108 2.392 @.9958 ’ @.88263
e i O 2.387 0.9938 : 0.08784
e 2.356 9.981 ) ) )
EaERet Sl 2.308 0.961 0 8 ]
Mode = Snap
Contral Mode = STATIC 2.343 .9755 9 2 9
Load Model = PawerFow 9.2751 0.9928 0.001628 .5918 0.003319 1.206
e 2.402 1 2.451E-887 1.82E-805 1.842E-007 7.67E-006

Main | MASTER_RedeTestel3Barras.dss
Messages Main

Summary |RﬂEU|l5|

Memory: 43612K Circuit Status; SOLVED Total lterations = 11, Control Iterations = 3, Max Solution Iterations = 4



OpenD5S Data Directory: ChUsers\HP\Desktop\openD55Paulo_Example\D5SSFilesy,

File Edit Do Set Make Export Show Visualize Plot Reset Help
e %A E S ||Genera| vlCNData v|||

v|C\f P||

. | x g | |Base Frequency = 60 Hz

C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\MASTER_RedeTeste13Barras. v|@' gé’ | @-|

Control Mode =STATIC
Total Iterations = 11
Control Iterations = 3

Redirect loads.d
Redirect capacil
Redirect transfol

sourcebus 115 1 3.353E-088 2.916E-808

Results for Actor ID # 1 Clear

CPU selected : 0 . . .

Status = SOLVED 7 File Edit Format View Help

Solution Mode = Snap /{ Files que des

Mumber = 100

Load Mult = 1,000 Redirect subest{ | SYMMETRICAL COMPONENT PHASE-PHASE VOLTAGES BY BUS (for 3-phase buses)

Devices = 39 Hedilecl Iinecu

e R ol Bus Mag: V1 (kV)  p.u. V2 (kV)  WV2/VL Ve (kV)  %Ve/V1

1.275E-914 1.1689E-814

Max 5ol Tter = 4 Redirect ransfoll reg 4.368 1.85  0.0259 8.5944 §.198E-816 1.877E-014
o Redirect regulat{ | 632 4.226 1.816  0.82106 9.4982 3.216E-016 7.608E-015

ol Hedirect senichell o 4.196 1.009 0.0386 0.92 2.542E-016 6.059E-015
Year =0 Redirect tensaofl] 671 4,143 8.9959  8.087295 1.761 4.899E-016 9.894E-0815
;:T“wlbge:mm : 680 4.143 £.9959  8.87295 1.761 7.19E-016 1.736F-014
M 1. valtge - 0,960 R 633 4.216 1.013 0.0211 0.5006 4.099E-016 9.723E-015
Total Acﬁ\re_ Power: 3.56706 MW A5 2.408 B.5788 B B B B
Lt:iaﬁrl Reactive Power: 1.73636 646 2,403 0.5776 a ) )
Total Active Losses: 0. 112108 4.143 8.9958  9.07313 .084E-016 1.227E-914
?ﬁﬁ"lﬁ‘;’ %}'L P 4.134 9.9938  0.97862 .28E-016 1.761F-014
e 2.356 0.5664 ] ] ]
Fre;uency =60Hz 2.308 8.5548 a 8 8
Made = Snap

e ) DO 2.343 8.5632 ) ) ) )
Load Model = PowerFlow 0.4765 9.9928  0.00282 8.5918 4.919E-817 8.435E-015
B 4.16 1 4.23F-007 1.917E-005 7.28E-816 1.75E-014

Main | MASTER_RedeTestel3Barras.dss
Messages Main

Summary |Rﬂ5l1|15|
Memorny: 43612K Circuit Status: SOLVED Total lterations = 11, Control lterations = 3, Max Solution Iterations = 4




File Edit Format View Help — 00—

LINE-GROUND and LIME-LIME WOLTAGES BY BUS & NODE

Bus Node VLN (kW) Angle pu Base kV Node-Node VLL (kW) Angle pu
SOURCEBUS 1 B66.395 /_ 3e.a 1 115. age 1-2 115 /. 6e.8 1
- 2 66.395 /_ -98.8 1 115. age 2-3 115 /_ -68.8 1
- 3 66.395 /4 15%8.8 1 115. aga 3-1 115 /_  18©.8 1
REG ..... 1 2.5368 /_ e.a 1.8562 4,168 1-2 4.3549 /_ 29.7 1.2468
- 2 2.4918 /_ -128.8 1.8375 4,168 2-3 4.3549 /_  -89.7 1.8469
- 3 2.5368 /_ 128.89 1.8562 4,168 3-1 4.39328 /_ 158.8 1.8562
632 ..... 1 2.4366 /_ -2.5 1.8145 4.168 1-2 4.234 f_ 28.1 1.8178
- 2 24715 y_ -121.7 1.829 4,168 2-3 4.2396 /_ -92.4 1.8191
- 3 2.4122 y  117.8 1.e844 4,168 3-1 4.2855 /147 .8 1.8189
678 ..... 1 2.4118 /_ -3.4 1.8042 4.168 1-2 4.2833 /_ 27.8 1.8184
- 2 24785 J_ -122.8 1.832 4,168 2-3 4.2252 4 -93.1 1.8157
- 3 2.3776 5 117.1 B.98992 4,168 3-1 4.1595 f_ 147.1 B.99987
T S 1 2.3688 /_ -5.4 B8.98295 4.168 1-2 4.1444 4 27.1 B8.99625
- 2 24987 J_ -122.4 1.e484 4,168 2-3 4.2858 /_ -94.4 1.811
- 3 2.3179 4y 116.8 8.96586 4,168 3-1 4.8795 /_  145.6 2.98864
688 ..... 1 2.3688 /_ -5.4 B8.98295 4.168 1-2 4.,1444 f 27.1 B8.99625
- 2 24987 J_ -122.4 1.e484 4,168 2-3 4.2858 /_ -94.4 1.811
- 3 2.3179 4y 116.8 B.96586 4,168 3-1 4.8795 /_  145.6 B.98864
633 .. 1 2.4293 /_ -2.6 1.8115 4.168 1-2 44,2233 ¢ 28.1 1.8152
- 2 2. 4669 J_ -121.8 1.8271 4,168 2-3 4.2292 f_  -92.4 1.81le66
- 3 2.4859 y_  117.8 1.e8817 4,168 3-1 A4.195 /_ 147 .8 1.2884
o L 2 2.44%94 4 -121.9 1.8198 4.168 2-3 44,2119 4 -92.3 1.8125
= 3 2.4877 J_ 117.8 1.2825 4,168
646 ... .. 2 2.4453 J_ -122.8 1.8181 4,168 2-3 4.2816 /_  -92.4 1.81
- 3 2.4828 /_ 117.9 1.6004 4.160
o2 Coocs 1 2.3685 /_ -5.4 B.98283 4.168 1-2 4.1441 /_ 27.1 8.99619
- 2 24987 J_ -122.4 1.2484 4,168 2-3 4.2857 /_  -94.4 1.811
- 3 2.3177 f_ 116.8 B.96498 4,168 3-1 4.8791 /_  145.6 B.98855
B coooe 1 2.3448 J/_ -5.6 B.97629 4168 1-2 4.1339 /_ 27.1 B8.99372
- 2 2.5843 /_ -122 .8 1.8427 4,168 2-3 4.2828 /_  -94.5 1.8183
- 3 2.313 / 116.8 8.96384 4,168 3-1 4.8667 /_  145.4 B.97756
684 ..... 1 2.3562 j/_ -5.4 B.98182 4,168
- 3 2.313 f_  115.9 B.96383 4,168 3-1 4.8696 /_  145.6 B.97828
611 -.-.. 3 2.3882 y_ 115.8 8.96182 4,168
652 __._.. 1 2.343 f_ -5.3 B.97554 4,168
634 ..... 1 8.27361 /_ -3.32 B.98732 B.488 1-2 8.47656 §/ 27.6 B.99283
- 2 8.27949 4 -122.3 1.8885 B8.4880 2-3 8.47898 /_ -92.9 8.99787
- 3 @.27231 y_  117.3 B.98262 8.488 3-1 a.47489 y_  147.1 B.9877
658 ..... 1 2.4818 ;/_ e.a 1 4,168 1-2 4.16 f_ 3e.a 1
- 2 2.4818 /_ -128.8© 1 4.168 2-3 4.16 /_ -98.8 1
- 3 2.4818 /_ 128.89 1 4,168 3-1 4.16 / 158.8 1




File Edit Format View Help

NODE-GROUND VOLTAGES BY CIRCUIT ELEMENT

Power Delivery Elements
Bus (node ref) Phase Magnitude, kV (pu) Angle

ELEMENT = "Vsource.SOURCE"

SOURCEBUS ( 1) 1 66.395 ( 1) /_  30.0
SOURCEBUS ( 2) 2 66.395 ( 1) /_ -90.0
SOURCEBUS ( 3) 3 66.395 ( 1) /_ 150.0

SOURCEBUS ( @) @
SOURCEBUS ( 8) @
SOURCEBUS ( @) @

ELEMENT = "Line.650632"
REG ) 1 2.5368 ( 1.856) /_ 0.8
5) 2 2.4918 ( 1.837) /_ -120.8
6) 3 2.5368 ( 1.856) /_ 120.8

7) 2.4366 ( 1.815) /_  -2.5
8) 2.4715 ( 1.829) /_ -121.7
9) 2.4122 ( 1.e84) /_ 117.8

ELEMENT = "Line.63267@"
632 {73 1 2.4366 (  1.815) /_  -2.5

632 ( 8) 2.4715 (  1.829) /_ -121.7
R37 { a3 412 o ARAY 117 R




Edit Format

View Help

SOURCEBUS

[ T e S I Y N e e N o I B Y LS LS I e Y LS B VI LS e B PR LN

o S I R VU Sl S S R Sy e WU LN B e R WA S B Y LI R VO LS I o WU N I e W Ny

VLN (kV)

115

115

115
4.3549
4.3549
A.3938
4.234
. 2396
. 2855
. 2833
L2252
. 1595
.1444
. 2858
.B795
1444
. 2858
.B795
.2233
L2292
4.195
.211%
. 2816
L1441
. 2857
.B791
.133%
L2828
.Be67
.B696
B8.47656

N N N N N NN

ARhABBARARD

e e T T e e i e e T i A e e e i T e T e, W, T )

LINE-LINE VOLTAGES BY BUS & NODE
Angle

6.
-b8.
1868.

29,
-89.
158.

28.
-92.
147.

27.
-93.
147.

27.
-94.
145.

27.
-94.
145.

28.
-92.
147.
-92.
-92.

27.
-94.
145.

27.
-94,
145.
145.

Pl
b

ﬁ O hpUuRPrPOER,EUEDER,PORERRORERRPRPODERL,ONSOOD

pu

B e

.B468
.B469
.B562
.B17a8
L8191
.B8189
.Bl1e4
.B157
B.99987
B.99625
1.811
B.98864
B.99625
1.811
B.98864
1.8152
1.8166
1.86884
1.8125
1.81
B.9%9619
1.811
B.98855
8.99372
1.8183
B.97756
B.97828
B8.99283

R R RR R R R

Base

115

115

R N . G- .G .Y

kV

. Baa
115.
.Baa
Jdea
dea
dea
Jdea
dea
lea
168
.le8
.leg
.le8
a8
Jd1ea
Jdea
dea
lea
Jdlea
168
.le8
.le@
lea
Jdea
a8
dea
Jdea
dea
lea
168
.488

geg




Export | Show Visualize Plot

Reset Help

C:\Users\HP\D& ~ #p\openDs®

Result

ChData "l

Vaoltages

14

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Snap
Mumber = 100

Load Mult = 1.000
Devices = 39

Buses = 15

Modes = 41

Control Mode =STATIC
Total Iterations = 11
Control Iterations = 3
Max Sol Iter = 4

- Circuit Summary -

Year =0

Hour =0

Max pu. voltage = 1.0562
Min pu. voltage = 0,96102
Total Active Power:  3,56706 MY
Total Reactive Power: 1.73636
Mvar

Total Active Losses: 0.112108
MW, (3. 143 %)

Total Reactive Losses: 0,327706
Mvar

Freguency = 60 Hz

Mode = Snap

Control Mode = STATIC

Currents
Powers

Losses

Summary
Buscoords

Fault Currents

Capacity

COverloads
Unzerved

Generators

Loads

MNode Mames
MNode Order

Meters

Estimation

Moniters ...

Yprims
¥
SeqZ

|
Buses & BBarras v | & £?| 'ﬁ|

v| ¢ v P|| ®| X ¢ ||Base Frequency = 60 Hz

Sequenced——

Element €——

=3

Load Model = PowerFlow

o circuito

i/

Main

MASTER_RedeTestel3Barras.dss

Messages

Summary |RF=5U|15|

Main

Memory: 40992K Circuit Status: SOLVED

Total lterations = 11, Control lterations = 3, Max Solution lterations = 4




File Edit Format View Help

bu5, BasekV, Nodel, Magnitudel, Anglel, pul, Node2, Magnitude2, Anglel, pul, Node3, Magnitude3, Angle3, pu3

"SOURCEBUS™, 115, 1, 66395.3, 310.4, 1, 2; 66395.3, -90.8, ¥, 3; 66395.3, 1.0.8,

"REG", 4.16, 25036.75, 0.8,  1.85%62, 2491.77, -128.8,  1.8375, 2536.75, 128.8,  1.85%2
"632", 4.16, 2436.61, -2.5,  1.0145, 2471.5, -121.7, 1.029, 2412.25, 117.8, 1.0044
"670", 4.16, 2411.82, -3.4, 1.0042, 2478.52, -122.8, 1.832, 23057, 1.1, 9.98992
61 416, 2360.82, -5.4, 0.98295, 2498.71, -122.4,  1.0404, 2317.87, 116.8, 0.96506
"680", 4.16, 2360.82, -5.4, 0.98295, 2498.71, -122.4,  1.0404, 2317.87, 116.8, 0.96506
0337, 415, 2429.3, -2.6,  1.0115,
6457, 4.16, 2449.39, -121.9,  1.0198,
"646", 4.16, 2445.29, -122.8,  1.0181,
"692", 4.16, 2368.55, -5.4, 0.98283,
oy, 4.1b, 2344.84, -5.6, 0.97629,
"684", 4.16, 2356.2, -5.4, 0.98192,
"611", 4.16, 2306.15, B.96182,
6527, 4.1b, 2343.82, -5.3, 0.97554,
"634", 0.48, 273.615, -3.3, 0.98732,
650", 4.16, 2491.78, 0.8, 2

-
-

L= (=1 (=1 (=1
f e e e

[
[

2407.68, 117.8,  1.0025,
2402.82, 117.9,  1.6004,
2498.74, -122.4,  1.0404,
2504.33, -122.6,  1.0427,
2312.99, 115.9, ©.96303,
9,0, 0,0,0,0

9,0, 0,0,0,0

279.485, -122.3,  1.0085, 272.312, 9.98262
2401.78, -120.0, 1, 2401.78, 1

0,

0,

2317.67, 116.0,
2313, 116.9,

0, 0

[
(™

[

[

[
[

3
3
3
3
3
2466.87, -121.8,  1.6271, 3,  2485.89, 117.8,  1.0017
9,
9,
3
3,
9,

[
(™

[
(™

o
-

[
[
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File Edit Format View Help

bu5Jr V1, p.u.,Base kV, V2, &V2/V1, V@, %VO/Vl, Vresidual, %NEMA

"SOURCEBUS™,  66395.3, 1, 115.00, 4.83483c-8@5, 7.262E-808, 4.31906E-006, 6.505E-009, 1.29572E-805, 4.916E-008
"REGY;  21521.¥6; 1.85, 4,16,  14.9897, 0.5944,  14.9976, 0.5947, 44,9933, 8.5935
"632",  2448.88,  1.8159, 4,16,  12.1569, ©6.4982,  25.8515, 1.827,  75.1544, ©.4928
670", 2422.5,  1.0086, 4,16,  22.2863, 8.92, 44.8142, 1.817,  132.843, 8.8783
of1", 2391.91, ©.99589, 4.16, 42,1206, 1.761,  82.5513,  3.451,  247.654,  1.539
oBOT,  2391.91, ©.99589, 4,16, 42,1206, 1.761,  82.5513,  3.451,  247.654,  1.539
"633",  2433.98, 1.8134, 4,16, 12,1835, ©6.50@86,  25.9226,  1.865,  77.7685, ©.4945
645", g, 8, 4.16, 8, 8, 2119.21, ]
646", g, 8, 4.16, B, 8, 2419. 325, 0
825y BOIGFE; 800583, .36 421303, 82.6323, 247,897,

"675",  2386.81, ©.99377, 436, 453923, 87.8383, 263.515,

684", 4.16, 2289.4, ]
611°, 4.16, 2388.15, ]
652", 4.16, 2343.02, ]
634", 275.13, 0.99279, 8.48, 1.62814, ©.5918, 3.318%, 1.286,  9.95567, @.514
"658",  2401.78, 1, 4.16, 0.000245058, 1.82E-085, 0.00018421, 7.67E-006, 0.000552629, 9.6@6E-006




SR

 File Edit Format View Help

i P TR

Element, Nterminals, Mconductors, V_ 1, Ang 1, ...

"Vsource.source", 2, 3, 66395.3, 30.00, 66395.3, -96.00, 66395.3, 1508.80, a,
"Line.658632", 2, 3, 2536.75, 8.0, 2491.77, -128.080, 2536.75, 128.80, 2436.61, -2.
“Line.G32670", 2, 3, 2436.01, -2.52, 2471.5, -121.75, 2412.25, 117.78, 2411.82, -3
“Line.67B8671", 2, 3, 2411.82, -3.45, 2478.52, -121.%96, 2377.57, 117.12, 2368.82, -5.
"Line.6716808", 2, 3, 2368.82, -5.36, 2498.71, -122.38, 2317.87, 116.@0, 2368.82, -5.
"Line.632633%, 2, 3, 2436.61, -2.52, 2471.5, -121.75, 2412.325, 117.78, 2429.3, -2.
"Line.632645", 2, 2, 2412.25, 117.78, 2471.5, -121.75, 24@7.e8, 117.8@, 2449.39, -121.
"Line.645646™, 2, 2, 24@87.68, 117.8@, 2449.39, -121.93, 24@82.82, 117.85, 2445.29, -122.
"Line.692675", 2, 3, 2368.55, 5,37, 2498.74, -122.38, 2317.67, 116.80, 2344.84, -5.
"Line.671684", 2, 2, 2368.82, -5.36, 2317.87, 1le.@8, 2356.2, -5.39, 2312.99,  115.
"Line.6B84611™, 2, 1, 2312.99, 115.9@, 2388.15, 115.75

"Line.684652", 2, 1, 2356.2, -5.39, 2343.82, -5.32

"Capacitor.capl™, 2, 3, 2344.84, -5.62, 2584.33, -122.55, 2313, 116.81, a,
"Capacitor.cap2”, 2, 1, 23e8.15, 115.75, a, 8.eg

"Transformer.subestacao™, 2, 4, 66395.3, 38.ea, 66395.3, -968.880, 66395.3, 158.88,
"Transformer.xfml", 2, 4, 2429.3, -2.59, 2466.87, -121.8@, 2485.89, 117.77, a,
"Transformer.regfasea™, 2, 2, 2481.78, 8.e8, 8, 8.e@, 2536.75, 8.8a,
"Transformer.regfaseb™, 2, 2, 2481.78, -1208.98, 5 8.0, 2491.77, -1208.98,
"Transformer.regfasec”, 2, 2, 2491.78, 128.080, 8, 8.8, 2536.75, 128.88,
"Line.671692", 2, 3, 2368.82, -5.36, 2498.71, -122.38, 2317.87, 116.@8, 2368.55, -5.
"Load.671", 1, 3, 2368.82, -5.36, 2498.71, -122.38, 2317.87, 1lec.0@

"Load.634a", 1, 2, 273.615, ~3.27, a, a.e8

"Load.634b", 1, 2, 279.485, -122.26, a, 8.e0

"Load.634c™, 1, 2, 272.312, 117.28, a, 8.0

"Load.b45™", 1, 2, 2449.39, -121.93, a, a.e8

"Load.b46", 1, 2, 2445.29, -122.81, 2492.82, 117.85

"Load.692", 1, 2, 2317.67, 116.80, 2368.55, -5.37

"Load.&75%a", 1, 2, 2344 .84, -5.62, a, a.e8

"Load.675b", 1, 2, 25@4.33, -122.55, a, a.e8

"Load.675c™, 1, 2, 2313, 116.01, a, a.ee

"Load.611™, 1, 2, 23@8.15, 115.75, a, 8.e0

"Load.g52", 1, 2, 2343.82, -5.32, a, a.e8

"Load.678a", 1, 2, 2411.82, -3.45, a, a.e8

"Load.678b", 1, 2, 2478.52, -121.96, a, 8.e0

"Load.678c", 1, 2, 2377.57, 117.12, a, 8.e0

<

0.00, e, 0.00, 8, 0.00
52, 24715, A21.75; = 2412.05, 117.78
.45, 2478.52, -121.96,  2377.57, 117.12
36,  2498.71, -122.38,  2317.87, 116.00
36,  2498.71, -122.38,  2317.87, 116.00
59,  2466.87, -121.80,  2485.89, 117.77
93
e1
62,  2504.33, -122.55, 2313, 116.01
90
0.00, e, 0.00, 8, 0.00
e, 0.00,  2401.78, @.ee,  2401.78, -120.00,
©.80,  273.615,  -3.27,  279.485, -122.26,  272.31
e, 0.00
e, 0.00
e, 0.00
37,  2498.74, -122.38,  2317.67, 116.00



port | Show | Visualize Plot Reset Help
| |Ger Summary v v| ¢ v P || [®| X % ||Base Frequency = 60 Hz
C:\Users\HP\Desl enDSS\Paula Voltages v lestel3Barras. w | & gf | i ||
:| Currents Currents Seq <+—
Results for Actor IDV% 1 Cl <+—
CPU selected : 0 Powers 2 Currents Elem
Status = SOLVED i I 7
Solution Mode = Snap 2 Buses Currents Elem Resid <
MNumber = 100
Load Mult = 1.000 Re BusFlow...
Devices = 39 Re
Blises = 16 Re Converged
Modes = 41 Re Elements
Control Mode =STATIC Re X
Total Iterations = 11 Re Elements in Class
Control Iterations = 3 Re
Max Sol Tter = 4 Re gl s
Re Event Log
- Circuit Summary - Re
Generators
Year =0 Re
Hour — 0 Isolated
Max pu. voltage = 1.0562 sol Losses
Min pu. voltage = 0.96102 )
Total Active Power:  3.56706 MW kW Base Mismatch
Total Reactive P 1 173636 =
M‘:ear RO Line Constants ...
Total Active Losses:  0.112108 Loops
MW, (3,143 %)
Total Reactive Losses: 0,327706 Mismatch
Mwar
Frequency = 60 Hz Taps
Mode = Snap o 4
Control Made = STATIC fonrerimoniton
Load Model = PowerFlow Zone [meter]
Zone [meter] Treeview
List ...

MASTER_RedeTestel3Barras.dss

Summary | Ra-;ull.-;|

Main

Memory: 41536K

Circuit Status: SOLVED

Total lterations = 11, Control lterations = 3, Max Solution lterations = 4




File

Edit Format

View Help

SYMMETRICAL COMPONENT CURRENTS BY

CIRCUIT ELEMENT (first 3 phases)

=
=

File Edit Do Set Make Export Show Visualize Plot Reset Help

Element Term 1 12 %I2/11 I %I0/I1  %Normal %Emergency 8o 8RB 8]swwraut vy | [sovRee vBevel @ G|BiseFeqency=ilhz
‘C:\Users\HP\Desktop\openDSS\Pau\o,Examp\e\DSSF\\es\MASTER,RedeTestelEEarras‘ v
"VSOURCE.SOURCE" ....... 1 19.917 2.5365 12.74 1.7771E-807 g.e0 B.e0 8.80
2 19617 2 t3gc 12 741 F771E 987 8-00 B-Ba a- Results for Actor 1D # 1 Clear
"LINE.650632" .......... 1 523.74 64.187  12.26 47,984 9.16  147.93  98.62 ke ) . "
= ya 5235 54188 v ayail 47984 Epwinig LS5l 888 So\ug’on Mode = Snap 11 Files que descrevem o circuito
“"LINE.B326/0" ....ccuunn 1 392.18 185.06 26.79 72.778 18.56 128.48 80.32 Mardes. = 100 o o
Load Muft = 1,000 i
s 2 392.18 105.86  26.79 72.778  18.56 0.80 9.00 et flateot thossein R | g h T'C | IC k
"LINE.670671" .......... 1 360.83 106.28 29.46 73.441 28.35 118.45 78.96 Buses = Redirect lines.dss
. 2 360.83 106.28  29.46 73.441  20.35 @.80 8.00 baaly fadioctloatchopo s Doz gut)
Control Mods = Redirect loads.dss .
“LINE.671680" .......... 1 ©.0033911 ©0.00039731  12.84 5.4174E-805 1.64 0.00 a.00 ot Teratrs = 11 e Save This Windaw
- 2 1.8088E-812 2.6929E-012 148.87 9.5869E-013 53.00 g.ee B.ea Control terations =3 Redirect ransfoimes_sub. dss Close Window
"LINE.632633" 1 69.117 6.2315 9.02 6.6284  9.59 20.47  13.65 eSS Redtectiansioinertizs
G .o - . . . . = s 2 Redirect regulators dss Change to this Directory
- 2 69.118 6.2315 9.082 6.6284 9.59 B.68 6.8 - Circuit Summary - Redirect switches. dss o
"LINE.632645" .......... 1 64.382 0 0.00 @ 0.0 16.18  10.73 . Dpeforkted e
- 2 64.383 ] 8.00 @ 8.00 .00 .00 s EditSelected Fle
“"LINE.B45%636 ....covuen 1 64.383 8 .00 ] g.ee 16.1@ 19.73 salve Change Fort.
- 2 64,384 8 .00 ] @.e0 0.8a 8.00 L
"LINE.692675" .......... 1 120.25 45.158 37.55 67.917 56.48 51.71 34.47
- 2 128.24 45,157 37.55 67.916 56.48 0.8a 8.00
"LINE.671684" .......... 1 62.71 2] 9.08 ] a.e8 15.68 18.45
- 2 62.71 8 .00 a @.ee B.ee a.ee =
"LINE.684611" .......... 1 71.158 e  0.00 8 8.80  17.79  11.86 T e D S R N B FE ol SF o e R PR R Pt
] 2 71.158 8 g.00 ] g.ee B.ea g.8e B &= | a % = | = ||Source{FauIt IVsource v“lSUURCE vl e w =] e | x|
"LINE.684652" .......... 1 B OpenDSS Data Directory: C\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\ top\openDSS\Paulo_Example\DSSFiles\MASTER RedeTestel3Barras. ~ & 4 | ¥ [Waming: Duplicate new element definition: “Li
o 2 File Edit Do Set Make Export Sh
“CAPACITOR.CAPL™ ....... 1 EIER 3] @‘@—HPDE\ements VH‘ESGSBZ 3 ¢ v p|| ®|X §|Base Frequency = 60 Hz #1 L;;D S r
b 2 ‘c. DS - @ | & |waming: Bupicate new element defint 50 ment ber 220b E5Ato Mab 670 AE col 4 4 Fd
"CAPACITOR.CAP2™ ....... 1 Resuls for Actor D & = * [ Mew Line 650632 Phases=3 Bus1-Reg.1.2.3 Bus2-632.1.2.3 LineCod
Kty aulo Radatz Mew Line 632670 Phases—3 Bus1-632 1,23 Bus2-6/0.1.2.3 LineCod 3
- 2 Stk < S0 Mew Line 670671  Phases=3 Bus1=670.1.2.3 Bus2-671.1.2.3 LineCod eng uni
"TRANSFORMER. SUBESTACAD" 1 fanie-ow Novs Linc 622638  Phoseons Bus1 622123  Busz—8391 2.3 LineCodocbb2 LonathotD unite: -
g 2 TIC New Line 632645 Phases=2 Bus1=632.3 2 Bus2=6453 2 LineC:
Property Value % 1 Mew Line.645646 Phases=2 Bus1-645.3.2  Bus2-646.3.2 _LineCode=603 Length=300 unit
“TRANSFORMER . XEM1"™ .. ... 1 bus? 1T 3 Mcw Line 692675  Phases=3 Bus1-692.1.2.3 Bus2-675.1.2.3 LincCode=606 Length=500 uri
e e Hew Line 671684  Phases=2 Bus1-671.1.F  Bus2-684.1.3 LincCode—604 Length=300 u
Control Mode =STATIC — 6] Mew Line 684611  Phases—1 Bus1-684.3 Bus2-611.3  LineCode—605 Length—300 unil
| . fnesode S New Line 684652 Phases—1 Bus1-684.1 Bus2_6521  LinoCods_607 Length—800 unite_tt
Control Iterations = 3 e
Max Sol Iter =4 phases 3
M
- Circuit Summary - o
10
% Files que descievem o circuito 0
cil
Reditect subestacao.dss @
Reduer] mecodes des matrix [6.562344E-005 |2.95351 2E-005 6.391 656E-005
Rediion mihaneiti amalrix 0.000192786 |9.500616E 005 00001984553 8.1
Redirect loads_dss cmatrix [0.00316483 |-0.001002609 0.002993589 |-0.000
:e:ilec: ::apafcllnls d“b 4 Switch False
edirect Uansfomer_sub.dss i T
e
Redirect switches.dss tho 100
aeometry
Wedrec wnd-somie s ity 1
spacing
IRedirect pvsystemexample.dss wires
IRedirect volt_var_pv.dss EarthModel Deri
: cncables
“‘“’f’"‘ storage_power.dss :;;:ahle: | Main | MASTER RedeTeste13Barras.dss | lines.dss
DaiE o el BO Y Me: OpenDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DS5SFilesilines.dss
MASTER_RedeTeste138ar | | Seasons 1 E|
Ralings 400,
Messages 0penDSS - C:\Users\HP\D| | nomamps 00 Circuit Status: SOLVED Total lterations = 11, Control lterations = 3, Max Solution |
sunary Resits e o1 . ;
Memory: 39600K Cireuit Status: SOLVED Iterations = 4




File Edit Format View Help

CIRCUIT ELEMENT CURRENTS
{Currents into element from indicated bus)

Power Delivery Elements

Bus Phase Magnitude, A Angle +j  (Imag)

ELEMENT = "Vsource.SOURCE"

SOURCEBUS 1 17.974 J_ 179.1 = j ©8.27999
SOURCEBUS 2 19.744 /_ 71. j 18.708
SOURCEBUS 3 22.283 /_ -58. j -18.988

SOURCEBUS 8 17.974 /_  -@. i -8.27999
SOURCEBUS 8 19.744 /_ -1@8. i -18.7@8
SOURCEBUS 8 22.283 /_ 121.6 = j 18.988

ELEMENT =("Line.658632"
REG 562.58 /_ -28.

2 418.99 /_ -141.
3 59173 . 93

1 562.59 /_ 151.
2 418.99 /_  38.
3 591.73 /_ -86.
ELEMENT = "Line.63267@"
632 1 481.9 /_ -27.

632 2 218.82 /_ -135.2 =
3 4808.26 /_  99.6




File Edit Format View Help

CIRCUIT ELEMENT CURRENTS

{(Currents into element from indicated bus)

Power Delivery Elements
Bus Phase Magnitude, A i {(Imag)

ELEMENT = "Vsource.SOURCE"™

SOURCEBUS 1 974 7 = i a.27999
SOURCEBUS 2 744 - i 18.708
SOURCEBUS 3 283 .4 = i -18.988

SOURCEBUS 974 .9 = i -B8.27999
SOURCEBUS .44 . i -13.788
SOURCEBUS .283 B = i 15.988

ELEMENT .658632"
REG
REG
REG

493 .52 +3j -27e.
-226.95 +j -262.
-35.895 +3j 598.
-131.48 +j -58.

© kWA

-493.52 +j 278.
326.95 +3j 262.
35.89 +j -598.
131.48 +J 58.

O~ W

ELEMENT

632 = i sl = 428.8 +J -219.91

632 - 4 -154.74 +j -152.58

632 e : -868.884 +3j 473.55
-194 .86 +j -lee.86

-428.81 +3 219.91




Visualize Plot Reset Help
Result Line v“ | v| ¢ v P || ®|X @ ||Base Frequency = 60 Hz
Voltages MASTER_RedeTestel3Barras. v & i | &b |

Currents Terminal <

Results for Actor ID # 1
CPU gelected : D Powers Sequence ¢———
Status = SOLVED
Solution Mode = Snap
Mumber = 100 Summary
Load Mult = 1.000
Devices = 39 Buscoords

B =16

stdzss =41 Fault Currents
Contral Mode =STATIC Ganacr
Total Iterations = 11 Aty
Control Iterations = 3 Overloads
Max Sol Iter = 4

Loszes Element <

Unserved
- Circuit Summary - Generators
Loads

Node Names
Node Order
Meters
Estimation
Monitors ..
Yprims

Y

Seqd

Main  MASTER_RedeTestel3Barras.dss | lines.dss|
Messages Main

Summary |Rﬂ5U|15|

Memory: 40024K Circuit Status: SOLVED Total lterations = 11, Control terations = 3, Max Solution [terations = 4




N H = |EEE13BARRAS_EXP_CURRENTS - Excel seyed iman taheri E] Eal

File Home Insert Page Layout Formulas Data Review View Help Q Tell me what you want to do
T _— 5 = v . ab 5 [?| H l_? = =2 3 AutoSum - A p
D e |Ca||br| |11 A A = % M £o Wrap Text ‘General ‘ . Q I == EE-%}( m i ZY .
e @ |BIU-[H-[O A SSS[EE |EVegeace - | §-% 0 [ Colonal faratas Dl | et Deete PO | ) e oo amer
Clipboard &/ Font Fl Alignment Il Mumber Il Styles | Cells Editing | ~
Al v . fe || Element v
A B | c | D | E [ F [ G [ H [ I [ J [ K L | M N o | P sl R S | il | U+
1] Element lll_l Angl 1 11_2 Angl 2 113 Angl 3 11.4 Angl 4 Iresidl  AngResid 12_1 Ang2 1 122 Ang2 2 123 Ang2 3 12 .4 Ang2 4 lresid2 Angﬁ]
2 |Vsource.5 17.9736  173.11 13,7436 7136 22.2829  -58.44 0 0 533E-07 -153.43 17.9736 -0.89 19.7436  -108.64 22.2829  121.30 0 0 5.33E-07 2
3 |Line.6506: 562.582  -28.63 418.937 -141.29 591.729 93.4 0 0 143.951 24.02 562.586  151.31 418.988 38.71 591.732 -86.6 a 0 143951 -15
4 |Line.63267 4819305  -27.15 218.022 -135.22 480.238 99.59 0 0 218.333 27.28 481.306  152.85 213.022 4478 480.239  -B80.41 1] 0 218.334 -15
3 |Line.o700] 473.786  -27.03 188.734 -132.54 424.8%8 10027 0 0 220.322 1641 473.788 15297 183.794 4746 424899  -78.73 0 0 220322 -16
6 |Line.6716¢ 0.003553 90.6 0.003436  -41.05 0.002958 -150.47 0 0 0.000163 -97.11 4.55E-13 0 4.19E-12 12.53 4.07E-12  153.43 a 0 2.88E-12 7]
7 |Line.6326: 81.8831 -37.78 619247 -135.13 63.5634 80.41 0 0 19.8853 -28.69  B81.884 14222 61.9235 20.87 63.5645  -99.59 1] 0 19.8852 15
& |line.p326¢ ©£4.3823 3778 143.303 -142.93 0 0 0 0 86.1464 -158.26 04.3832 -122.22 143.304 37.07 1] 1] ] 0 86.14601 2
9 |Line.5456¢ 64.3832 57.78 0643836 -122.22 1] 1] 0 0 0.000521  -51.79 64.3838 -122.22 64.3838 57.78 a a a 0 3.28E-12 -3
10 |Line.69267 206.848 -5.54  68.5035 -55.9 125917  110.79 0 0 203.751 11.61 206.848 17445 68.43824 12409 125919  -69.22 0 0 203.748 -16
11 |Line.6716f 62.7098  -3%.19 711576 12118 0 0 0 0 24.29 6104 627101 140.81 71.1576  -38.82 ] ] ] ] 24.29 -11
12 |Line.6846] 711576 121.18 1] 1] 1] 1] 0 0 7L15760 12118 71.1576 @ -58.82 a a a a a 0 711576 -5
13 |Line.6846] 62.7101  -35.19 0 0 0 0 0 0 627101  -39.19 62.7278  140.79 1] 1] 1] 1] 1] 0 627278 14
14 |Capacitor.  81.2375 84.38 80.8274  -32.55 80.1937 -153.99 0 0 9.13629 -6.18 812975  -95.62 86.8274 14745 80.1937 26.01 0 0 913629 17
15 |Capacitor,  40.0721  -154.25 1] 1] 1] 1] 0 0 400721 -154.25 40.0721 25.75 a a a a a 0 40.0721
16 |Transform  17.9736 -0.89 19.7435 -108.64 22.2829 121.56 0 0 3.73E-09 -90 554.228 151.31 434.699 38.71 625.014 -86.6  159.66 24.74  1.20E-07
17 |Transform ~ 81.884  -37.78 619255 -159.13 63.5045 8041 19.8852  151.31 1.12E-06 -175.57 709.061 142,22 536.687 20,87 550.892  -99.59 172339  -28.69 1.08E-05 17
18 |Transform  594.228  -28.69 594.228  151.31 1] 1] 0 0 0.000347 -90 562.582  151.31 562.582  -28.69 1] a a 0 0.000367
19 |Transform  434.693 -141.29 434.699 38.71 0 0 0 0 0.000347 150 418.987 38.71 418.387 -141.29 1] 1] 1] ¢ 0.000361
20 |Transform  625.014 93.4  625.014 -80.6 0 0 0 0 0.000347 30 591729 -86.0 391729 93.4 ] 1] ] 0 0.000367
21 |Line.6716¢ 230.948  -18.43 68.5035 -55.9 180.309  108.74 0 0 203.751 11.61 230.548  161.57 68.5035 1241 180.309  -71.26 a 0 203751 -16
22 |Load.671  185.361  -33.65 185.359 -153.62 185.447 86.327 0 0 2.13E-14 0 0 0 1] 1] 1] 0 0 0 0
2 | 709 RAS A7 7R TNA RAS 142 22 0 0 n i} i} i} i} n 0 0 0 i} n n n ]
IEEE13BARRAS_EXP_CURRENTS ‘ @ [«I 1 [+
i i = i -+ [ 100%
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File Home Insert Page Layout Formulas Data Review View Help Q Tell me what you want to do

g b ihi = i = — . 2 . | ab n [;F‘ HF @ - = 2 AutoSum = A p
D s - |CaI|I:Jr| |'|'| A a = &- 2% Wrap Text |Genera| | inay | & ;%)( . Z'Y
Paste " B I U- o Py .& o === &3 Merge&Center & $ TR Conditipnal Formatas Cell Insert Delete Format # Clear~ S_tth& Find &
- Formatting ~ Table~ Styles~ - - - =l Filter = Select~

Clipboard R/ Font = Alignment = MNumber fal Styles Cells Editing ~
Al > fe || Element v
A B [ i [ D | E | F [ G [ H | | | ] [ K [ L vl M 0 [ P [ Q R s [ T [ u A
1 |Element | Terminal 11 %MNormal %Emerge 12 %a12/11 10 2a10/11 Iresidual % NEMA

2 |Vsource.5 1 199172 0 0 2.53647 12.74 1.78E-07 8.92E-07 5.33E-07 1141

3 |Vsource.5 2| 199172 0 0 2.53p47 12.74 1.78E-07 B.92E-07 5.33E-07 11.41
4 |Line.6506: 1 523.744 130.9 87.29 64.1873 12,26 47.9836 9.162 143951 20.11

5 |Line.6506: 2 523.747 0 0 64.1879 12,26  47.9837 9.162 143951 20.11
& |Line.6326 1] 392178 98.04 65.36  105.059 26,79 727718 18.56 218.333 44,58
7 |Line.6326 2| 392179 Li] 0 105.059 26.79, 7277719 18.56 218.333 44.58
8 |Line.6706! 1 360.826 90.21 60.14 106.283 29.46  73.4406 20.35 220.322 47.92
9 |Line.6706 2 360.827 0 0 106.283 29.46 734407 20.35 220.322 47.92
10 |Line.6716¢ 1 0.003301 0.000825 0.00055 0.000397 12.04 5.42E-05 1.641 0.000163 10.78
11 |Line.6716¢ 2 1.81E-12 0 0 2.69E-12 148.9 9.59E-13 53 0.000163 84.35
12 |Line.6326: 1 69.1171 17.28 1152 6.23152 9.016 6.62845 9.59 19.B853 18.46
13 |Line.6326: 2 69.118 0 0 6.23152 9.016 6.62841 9.59 19.8853 18.46
14 |Line.6326¢ 1 0 0 0 0 0 0 0 86.1464 0
15 |Line.6326¢ 2 0 0 0 0 0 0 0 86.1464 0
16 |Line.p456¢ X Li] Li] 0 0 0 Li] 0 0.000521 0
17 |Line.b456¢ 2 0 0 0 0 0 0 0 0.000521 0
18 |Line.6326' 1 120.247 30.06 20.04 45.1576 37.55 67.9169 56.48 203.751 54.65
19 |Line.6926° 2 120244 i 0 45.1574 37.55 67.9161 56.48 203.751 54.65
20 |Line.b716t I 0 0 0 0 0 0 0 24.29 0
21 |Line.6716¢ 2 1] 1] ] 0 0 1] 0 24.29 0
22 |Line.6846’ 1 0 0 0 0 ] 0 0 711576 ]

0 0 0 0 1] 0 71.1576 0 .

; ] 3 B
IEEE13BARRAS EXP SEQCURRENTS | (®) Kl D]

Read @ E i 1 +  100%
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File Home

Insert Page Layout Formulas Data Review View Help Q Tell me what you want to do

"D J'E’ Calibri 1 KA | S=E % W BWepTer General -| )3 ‘°‘_“t°5“’“ . ’%‘Y p

B 1z Fill = )

Paste = B I U- Sy . A - === e E Merge & Center = $ - 0 s | 000 CDr‘IdItIFII"IE| Formatas Cell Insert Delete Format # Clear~ S_r.:lrt & Find &

- Formatting = Table~ Styles~ - - - el Filter = Select -

Clipboard &/ Font M= Alignment I Number Ml Styles Cells Editing o~
Al > Ffe || Element v
A A [ B | C | D | E | F G H ] [ K [ L [ M N o] [ p Q R S F U |~
1 |Element Ntermina Nconduct 1_1 Ang 1 r

2 |Vsource.s 2 3 179736 179.11 19.7436 71.360 22,2829 -58.44 17.9736 -0.89 19.7436 -108.64 22.2829  121.56

3 |Line.6306: 2 3| 562.582 -28.69 418.987 -141.29 591.729 934 562.586 151.31) 418.988 38.71| 591.732 -86.6

4 |Line.6326 2 3 481.905 -27.15| 218.022| -135.22| 480.258 99.59 481.906 152.85| 218.022 44,78 480.259 -80.41

5 |Line.6706! 2 3 473.786 -27.03  188.794 -132.54 424.898 101.27 473.788 152.97| 188.794 4746 424.899 -78.73

6 |Line.6716¢ 2 3 0.003553 90.6 0.003436 -41.05 0.002958 -150.47 A.55E-13 0/ 4.159E-12 12.53 4.07E-12) 15343

7 |Line.B326: 2 3 Bl.Bs31 -37.78 619247 -159.13 63.5634 80.41  8l1.884 142.22| 61.9255 20.87) 63.5645 -99.59

8 |Line.6326 2 2  64.3823 57.78 143.303 -142.93 64.3832 -122.22 143.304 37.07

9 |Line.B456 2 2 64.3832 57.78 64.3836 -122.22 64.3838 -122.22 64.3838 57.78
10 |Line.6926! 2 3 206.343 -5.54 68.5035 -55.9 125.917 110.79 206.348 174.45 68.4324 124.09| 125.919 -69.22
11 |Line.6716¢ 2 2 627098 -39.19 711576  121.18 62.7101 140.81 71.1576 -58.82
12 |Line.6846: 2 1 711576 121.18 71.1576 -58.82
13 |Line.6846! 2 1 62.7101 -39.19 62.7278  140.79
14 |Capacitor, 2 3| BL2975 84.38 B6.8274 -32.55 B80.1937 -153.99 81.2973 -95.62 86.8274 147.45| B80.1937 26.01
13 |Capacitar, 2 1 40.0721 -154.25 40.0721 25.75
16 | Transform 2 4 17.9736 -0.89 19.7435 -108.64 22,2829 121.56 0 0| 594.228 151.31| 434.699 38.71 625.014 -86.6  159.66 24.74
17 | Transform 2 4  Bl.B84 -37.78 619255 -159.13 63.5645 80.41 19.8852 151.31| 709.661 142.22| 536.687 20.87 550.892 -99.59 172.339 -28.69
18 | Transform 2 2 594.228 -28.69 594.228  151.31 562.582 151.31 562.582 -28.69
18 |Transform 2 2 434699 -141.29 434.699 38.71 418.987 38.71 418.987| -141.29
20 |Transform 2 2 625.014 93.4 625.014 -86.6 591.729 -86.6 591.729 934
21 |Line.6716¢ 2 3 230.548 -18.43  68.5035 -35.9 180.309 108.74  230.948 161.57| 68.5035 124.1| 180.309 -71.26
22 |Load.671 1 3 185.361 -33.65 185.359 -153.62 185.447 86.37

1 2

709.645  -37.78  709.645 14222 [~]
IEEE13BARRAS EXP ElemCurrents | () [T JR[+]

Ready H m - 1 + 100%
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Show | Visualize Plot Reset Help
PDe Summary v || |650632 v/@ e v p || [®| X 9@ |[Base Frequency = 60 Hz
S\Paulg Voltages » Testel3Barras. v & i | <% || ||
——} Currents L4
Results for Actor ID # Cl
CPU selected : 0 | Powers Powers kVA 4¢———
Status = SOLVED w1 e e e 27
Solution Mode = Snap 7 Buses Powers MVA €——
Number = 100 Powers kVA Elem <4——
Load Mult = 1.000 Re BusFlow...
Devices = 39 Re Converged Powers MVA Elemed——
Buses = 16 He
MNodes = 41 Re Elements
Control Mode =STATIC Re .
Total Iterations = 11 Re Elements in Class
Control Iterations = 3 He
Max Sol Tter = 4 Re vyt s
Re Event Log
- Circuit Summary - Re
Generators
He Isolated
=0l Losses
kW Base Mismatch
Line Constants ...
Loops
Mismatch
Taps
Manitor [monitor]
Zone [meter]
Zone [meter] Treeview
List ...
Main MASTER_RedeTestel3Barras.dss | lines.dss
Messages main
Summary | Results |
Memory: 39172K Circuit Status: SOLVED Total lterations = 11, Control Iterations = 3, Max Solution Iterations = 4




File Edit Format View Help

SYMMETRICAL COMPONENT POWERS BY CIRCUIT ELEMENT (first 3 phases) Excess Power

Element Term P1{kW) Ql(kvar) P2 Q8 P_Norm Q_Norm P_Emerg  Q Emerg

"Vsource. SOURCE™ 8.9 8.8 8.8 : : 0.8
"Line.b50632" 3563.4 1732.6 19 . : 1.3 1155.8
"Line.b50632" -35@8.7 -1545.5 1.3 : L 3.5
"Line.b32670" 2697.8 983.9 -3.1 : ; -5.1 457.5
"Line.b32670" -2687.6 -948.9 4.9 : : 8.9
"Line.b70671" 2486.5 832.9 -5.6 : : -9.5 386.1
"Line.678671" -2470.8 -773.9 9.1 . : 17.4
"Line.b71680" -8.8 -g.@ 0.0 : : 0.8 0.8
"Line.o71680" 0.9 -8.@ -0.8 . . -0.8
"Line.b32633" 486.3 301.5 -8.2 . L -8.4 8.8
"Line.b32633" -485.5 5 8.4
"Line.b32645" 8.0 8 8.e 8.8
"Line.b32645" 8.0 .@ 8.9
"Line.b45646" 0.8 .8 : : 0.8 0.8

@

7

3

8

4}

8

@

[}

[}

5

"Vsource. SOURCE™ -3567.1 -1736.4 -8.8 ! . —B.B]

"Line.645646" 8.e 8.8
"Line.692675" 855.8 16.4 8.8
"Line.692675" -853.8 17.8
"Line.671684" 8.0 8.8 8.0
"Line.671684" 6.8 8.8
"Line.6B84611" 6.8 6.8 6.0
"Line.684611" 8.0 8.8
"Line.684652" 8.8 8.8 8.8
"Line.684652" 8.0 8.8
"Capacitor.CAP1" -8.8 3 : -8.8 8.8
"Capacitor.CAP1" 8.0 : : 0.0
"Capacitor.CAP2" 8.0 2 2 6.8 8.0
"Capacitor.CAP2" 8.0 : : 0.8
"Transformer. SUBESTACAQ" 3567.1 = : 8.e 8.8
"Transformer.SUBESTACAQ" -3567.1 g 8.9
"Transformer.XFM1" 485.5 ] . -8.4




File Edit Format View Help

Element

"Vsource.SOURCE™
"Vsource. SOURCE"
"Line.6508632"
"Line.6508632"
"Line.632678"
"Line.632670"
"Line.6708671"
"Line.b678671"
"Line.671688"
"Line.6716808"
"Line.632633"
"Line.632633"
"Line.632645"
"Line.632645"
"Line.645646"
"Line.b645646"
"Line.692675"
"Line.692675"
"Line.671684"
"Line.671684"
"Line.684611"
"Line.684611"
"Line.684652"
"Line.684652"
"Capacitor.CAP1"
"Capacitor.CAP1"
"Capacitor.CAP2"
"Capacitor.CAP2"
"Transformer.SUBESTACAQ"
"Transformer.SUBESTACAQ"
"Transformer. XFM1"

Term

B o T R e R T T o e N e e e - B = I = o C B = e

P1 (M)

Q1(Mvar)

[ o I R e o I

® o

P e

= @

oo ®

>

S

@ @

o 2 RARERNE i SIS Gulenie S
LN N DO OO DO, D® W WD 000 E 0D

SYMMETRICAL COMPONENT POWERS BY CIRCUIT ELEMENT (first 3 phases)

P2

-0.8
8.9
8.8
8.0

-0.8
8.0

-0.8
8.0
8.8

-9.8

-0.8
8.0
8.0
8.0
8.8
8.0

-0.8
8.0
8.8
8.0
8.0
8.0
6.8
8.0
.8
8.0
8.8
8.0
8.8
8.9

-0.8

Q2

6.8
8.8
8.8
8.8
-0.8
8.9
-0.8
8.8
8.8
-9.8
8.8
-0.8
8.9
8.9
8.8
8.8
-0.8
8.8
8.8
8.8
8.2
8.9
8.8
8.8
-0.8
8.8
8.8
8.8
-0.8
8.e
8.8

-0.0
8.8
8.8
.8

-0.@
8.e

-0.0
8.8
8.8

-0.0
8.8

-0.0
8.e
8.e
8.8
.8

-0.@
8.8
8.8
8.8
g.e
8.e
8.8
8.8

-0.0
8.8
8.8
8.8

-0.@
g.e
8.8

08

-0.8
8.8
8.8
8.8

-0.8
8.0

-0.8
8.8
8.8

-9.8

-0.8
8.8
8.0
8.0
8.8
8.8

-0.8
8.8
8.8
8.8
8.0
8.0
6.8
6.8

-0.8
0.8
8.8
8.8
8.8
8.0

-0.8

P_Norm

B2

8.5

8.4

.8

.8

B.a

8.8

8.8

8.8

8.8

.8

B.a

8.8

8.8

8.8

Excess Power

Q_Norm P_Emerg

8.6 8.8
8.2 8.8
8.1 6.8
8.8 8.8
8.8 6.8
0.0 8.8
8.e 8.8
8.8 8.8
8.8 8.8
8.0 6.8
8.8 6.8
8.8 8.8
8.8 8.8
8.e 8.8
8.8 8.8

Q_Emerg

8.8
8.9
8.8
8.8
0.8
8.9
8.8
8.8
0.8
8.9
0.8
8.8
8.8
8.9

8.8
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File Edit Format View Help

CIRCUIT ELEMENT POWER FLOW

(Power Flow into element from indicated Bus)
Power Delivery Elements
Bus Phase bl

ELEMENT = "Vsource.S0OURCE™
SOURCEBUS 1 -la24.
SOURCEBUS 2 -1242.
SOURCEBUS 3 -1388.

TERMINAL TOTAL . -3567.
SOURCEBUS a a.
SOURCEBUS a

RPRrRRrRRrREEE

DDDER VR R
SO0 LD
SoOOONWL LR

a
SOURCEBUS a a.
TERMINAL TOTAL a

ELEMENT = "Line.&658632"
REG 1 1252,
REG 2 972.
REG 3 1342.
TERMINAL TOTAL . 3567.
632 1 -1238.
032 2 -975.
632 3 -1388.
TERMINAL TOTAL . -3586.

Wk Wl ® N0 ®
PNbLOOO®
AN D R ® R

bl

ELEMENT = "Line.&632678"
632 1 1e867.
632 2 524.
632 3 118e.
TERMINAL TOTAL . 2692.
678 1 -lae4.
678 2 -526.

BWwonown




File Edit Format View Help

CIRCUIT ELEMENT POWER FLOW

{(Power Flow into element from indicated Bus)

Power Deliwvery Elements
Bus Phase i)

ELEMENT = "Vsource.S0URCE™
SOURCEBUS 1
SOURCEBUS 2
SOURCEBUS 3
TERMINAL TOTAL
SO0URCEBUS a
SOURCEBUS a
SOURCEBUS a
TERMINAL TOTAL

>0
eI NNLEO

saaEpre
RFRrRREODO

COOOOWN®
B e .
cooOOUNWN

ELEMENT = "Line.&58632"

REG 1

REG 2

REG 3
TERMINAL TOTAL

632 1

632 2

632 3
TERMINAL TOTAL

NWONOWO W
Vo Wwo NN BN

WRRR AR RE
RO RONE R
PeePP0O0Q

ELEMENT = "Line.&32678"

632 1

632 2

632 3
TERMINAL TOTAL

678 1

&78 2

SRNRPRSPR
VN 0N W N
o ks




Export | Show Visualize Plot Reset Help
(= Result Line v || 650632 v/@ c v p|| ®|X @ |[Base Frequency = 60 Hz
C:\Users\HP\De JfophopenDs Voltages MASTER_RedeTestel3Barras. v | = a& | 'ﬁ' || ||
== Currents L4
Results Actor ID # 1
CPU selected : 0 | Powers Terminal <
Status = SOLVED 7
Solution Mode = Snap i By Phase <——
Mumber = 100 Summal Sequence
Load Mult = 1.000 s # —
Devices = 39 Buscoords Element <*—
EJL;SdE:si ]'fl Fault Currents
Control Mode =STATIC e
Total Iterations = 11 perily
Control Iterations = 3 Overloads ub_dss
Max Sol Iter = 4 Iy
Unserved
- Circuit Summary - e
Loads dzz
Mode Names
Mode Crder
Meters L4
Estimation
Maonitors ...
Yprims
¥ 3
Seq Z
Main | MASTER RedeTestel3Barras.dss | lines.dss
Messages Main
Summary |R£¥EII||35|
Memory: 33184K Circuit Status: SOLVED Total lterations = 11, Control lterations = 3, Max Sclution lterations = 4
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File Home Insert Page Layout Formulas Data Review View Help Q Tell me what you want to do

s | T TIT = mm] =t =
B ;;’ [Calibr ‘In AN | S=E & - ®waepTe (General S o [-!—}- i %( ‘:t"s“m ‘%‘T p
- e e
Paste = B I U-~ co| Py A - ===|e=3= Merge & Center - $ AR Conditional Formatas Cell Insert Delete Format Sort & Find &
- B o o Formatting = Table~ Styles~ - - - & Clear~ Filter ~ Select
Clipboard Tl Font ] Alignment ] Mumber =l Styles Cells Editing

Al bl S || Element

4 A g | ¢ | » | E | & | & || ®m | 0 | 3 E | b [ ™ | w | e | B | e | B | & | |
1 |Element | Terminal P(kwW) Qfkvar) P_Normz Q_Morma P_Emerge Q_Emergency
2 |Line.B506: 1 3567 1736 1155.8 562.5 0 0
3 |Line.6306: 2 -3506.3 -1540.1

4 |Line.6326: 1 2692 976.5 457.5 166 o 0
3 |Line.6326. 2 -2673 -935

6 |Line.6706: 1 2473 819 386.1 127.5 0 0
7 |Line.e706: 2 -2456.3 -746.7

§ |Line.6716¢ 1 0 o 0 0 o 0
9 [Line.6716¢ 2 0 0

10 |Line.6326: 1 406.4 301.2 0 0 0 0
11 |Line.6326: 2 -405.6 -300.1

12 |Line.6326¢ 1 407.9 262.5 0 0 o 0
13 |Line.b326¢ 2 -405.1 -260.1

14 |Line.b6436¢ 1 235.1 135.1 0 0 0 0
15 |Line.6436¢ 2 -234.6 -134.7

16 |Line.6926° 1 847.2 -129 ] 0 o 0
17 |Line.6926. 2 -843.1 131.5

18 |Line.6716: 1 287.3 67.5 0 0 0 0
19 |Line.6716: 2 -286.7 -67

20 |Line.6846! 1 163.9 -15.2 0 0 ] ]
21 |Line.6846! 2 -163.5 15.5

22 |Line.6846! 1 122.8 82.2 ] 0 o 0

- : 2 gl 52
IEEE13BARRAS EXP POWERS |  (®) [ |

Read H L] —
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Review

View

Help

|[EEE13BARRAS_EXP_P_BYPHASE - Excel

Q Tell me what you want to do

seyed iman taheri F‘] il

o

IEEE13BARRAS_EXP_P BYPHASE ‘

| | ; i : B ;
&D {rb ‘Calihri '|11 AN | === & | 2B WapTent ‘General - {557 ) Q %‘I' %( ZA-utaSum T %Y p
- i == Fill - :
Paste v B I U- My . A -l === e= Merge&Center = G -05 0 |00 CUI"IdItI.UﬂE| Format as  Cell Insert Delete Format ¢ Clear - Sprt& Find &
- Formatting~ Table~ Styles~ - - - e edl Filter = Select =

Clipboard =l Faont T2 Alignment T2 Number Il Styles Cells Editing

Al d Element
A B & D E | F G H | | J K | L M N 0 P Q R S T |
1 |Element | NumTern NumConc NumPhas kW1 kvarl kw2 kvar2 kW3 kvar3
2 |Line.6506: 2 3 3 1251.997 684.983 972.788 379.027 1342242  672.01 -1230.3 -604.532 -975.876 -346.388 -1300.14 -589.165

3 |Line.6326] 2 3 3 1067.382 489.359 524.025 125485 1100.617 361.613 -1064.22 -467.24 -525.978 -123.89 -1088.84 -343.852
4 |Line.6706. 2 3 3 1047.218  457.24 45998 B5.891 971.833 275.846 -1039.48 -413.027 -464.343 -83.221 -952.488 -250.43

5 |Line.6716 2 3 3 -0.001  -0.008 0.001  -0.008 o -0.007 0 0 0 4] 0 0
6 |Line.6326: 2 3 3 162918 115173 12161 92921 121.863  93.058 -162.56 -114.647 -121.457 -92.652 -121.55 -92.806
7 |Line.6326: 2 2 2 77.66 134.495 330.242 127982 -77.448 -134.28 -327.694 -125.785
8 |Line.p456¢ 2 2 2 7148 13428 157.699 0.788 -77.184 -134.073 -157436  -0.578
9 |Line.6526 2 3 3 488.272 1453  68.313 -156.95 290.631  26.462 -485.024 0.618 -67.997 157.447 -290.039 -26.541
10 |Line.6716: 2 2 2 122993 82406 164.259 -14.904 -122.785 -82.196 -163.887  15.162
11 |Line.6846! 2 1 1 163.887 -15.162 -163.505  15.549
12 |Line.6846: 2 1 1 122,785  B2.196 -121.994 -81.965
13 |Capacitor, 2 3 3 0 -190.629 0 -217.445 0 -185.488 0 0 0 4] 0 0
14 |Capacitor. 2 1 1 0 -92.492 0 0
15 | Transform 2 4 3 1024.062 612.708 1242122 418.969 1300.875 704.684 0 0 -1252.01 -685.112 -972.794 -379.094 -1342.26 -672.147 0 0
16 | Transform 2 4 3 16256 114.647 121457 92.652  121.55  92.806 ] 0 -160.007 -110.005 -119.997 -89.998 -120.011 -50.009 0 0
17 | Transform 2 2 1 1252.009 685.112 0 0 -1252 -684.989 0 0
18_Tran5f0rrr 2 2 1 972794 379.094 0 0 -972.788 -379.027 0 0
19 | Transform 2 2 1 1342256 672.147 0 0 -1342.24 -672.01 0 0
20 |Line.6716¢ 2 3 3 531108 123.281  68.318 -156.945 414,58 52.834 -531.055 -123.228 -68.313  156.95 -414.548 -52.801
21 |Load.671 1 3 3 385366 207.345 396.017 240.179 373.631 212515
22 | Load.6344 1 2 1 160  110.007 0 0

1 2 1 119.999  89.998 0 0

®

‘l
.|




Data

Review

View

Help

|EEE13BARRAS_EXP_SEQPOWERS -

Q Tell me what you want to do

Excel

seyed iman taheri

o X | = _B . . b I s li?l —— =2 | 3 AutaSum - A p I

D - |Ca||hr| = - - 3P wWap T ‘General i EE-E':IX Tri- ZY

Paste v B I U- ==l S Merge&Center x L T et Conditipnal Formatas  Cell Insert Delete Format # Clear~ SQrt& Find &
- Formatting~ Table~ Styles~ - - - i tal Filter - Select ~

Clipboard T3] Font I Alignment My Number T | Styles Cells Editing o~
Al o2 F || Element i
4 A E | € | p | E | E | & | # L L 2 | & | L | | N | @ | B | @ R | s | 1 | ul+
1 [Element |Terminal P1{kw) Qifkvar) P2 Q2 PO ao P_Morma Q_Morma P_Emerge Q_Emergency
2 |Line.6506: 1 35634 17326 19 2.2 L7 13 1155.8 562.5 0 0
3 |Line.6506: 2 -3508.7 -1545.5 1.3 19 1 3.5
4 |Line.6326 1 2697 983.9 -3.1 -2.3 -1.9 -5.1 457.5 166 0 0
5 |Line.6326 2 -2687.6 -948.9 4.9 5 3.6 8.9
6 |Line.6706 1 24865 8329 -5.6 -44 -1.9 -9.5 386.1 127.5 0 0
7 |Line.6706] 2 -2470.8 -7739 2.1 9.8 5.4 17.4
8 |Line.6716¢ 1l 0 0 0 ] 0 0 ] 0 0 0
9 |Line.6716¢ 2 0 0 0 0 0 0 L
10 |Line.6326: 1 406.3 3015 -0.2 0.1 0.3 -0.4 0 0 0 0
11 |Line.6326: 2 -405.5 -300.5 0.2 -0.1 -0.3 0.4
12 |Line.6326¢ 1 0 0 0 0 0 0 0 0 0 0
13 |Line.6326 2 0 0 0 0 0 0
14 |Line.6456¢ 1 0 0 0 ] 0 0 ] 0 0 0
15 |Line.6456¢ 2 0 0 0 0 0 0
16 |Line.6926: 1 8558  -109.7 -4.9 -2.9 -3.6 -16.4 0 0 0 0
17 |Line.6926 2 -853.8 111.3 53 3.2 5.5 17
18 |Line.6716¢ 1 0 0 0 0 0 0 0 0 0 0
18 |Line.6716: 2 0 0 0 0 0 0
20 |Line.6846: 1l 0 0 0 U] 0 0 ] 0 0 0
21 |Line.6846 2 0 0 0 0 0 0
22 |Line.6846! 1 0 0 0 0 0 0 0 0 0 0

i J 2 0 0 0 1] 0 0

IEEE13BARRAS_EXP_SEQPOWERS ‘ ® [

Readv B = M - . = -+ 100%




Data

Review

View

Help

|IEEE13BARRAS EXP_ElemPowers - Excel

Q Tell me what you want to do

seyed iman taheri F’] 5l

4 Share

=== % . a A m B Q = i > AutoSum - A p
= &~ | - 2 wWrap Text ‘General | l 2] /A EX g - ZY l
=== |e=3= Merge&Center & £ %2 |1 Condltlpnal Formatas Cell Insert Delete Format ¢ Clear~ Sturt& Find &
Formatting~ Table~ Styles~ - - - Mo al Filter~ Select -
Clipboard Tl Font 1P Alignment Iy Number M Styles Cells Editing ~
Al s F || Element »
A B | 2 D E E G H | J K | L M N Q P | 0@ R | 5 T | U A
1 |Element | Ntermina Nconduct P_1 Q1
2 |Vsource.s 2 3 -1024.06 -612.708 -1242.12 -418.969 -1300.88 -704.085 0 1] 0 0 0 0
3 |Line.6506: 2 3 1252 684989 972788 379.027 134224 67201 -1230.3 -604.532 -575.876 -346.388 -1300.14 -5389.165
4 |Line.6326. 2 3 1067.38 489.359 524.025 125485 1100.62 361.613 -1064.22 -467.24 -525.978 -123.89 -1088.84 -343.852
5 |Line.6706' 2 3 104722 457.24  459.98 B85.8911 971.833 275.846 -1039.48 -413.027 -464.343 -83.2211 -952.488 -250.43
6 |Line.6716¢ 2 3 -0.00087 -0.00834 0.001254 -0.00849 -0.00042 -0.00684 1.07E-12 -1.00E-13 -7.40E-12 -7.42E-12 7.49E-12 -5.73E-12
7 |Line.6326: 2 3 162918 115.173  121.61 92.5209 121.863 93.0576 -162.56 -114.647 -121.457 -92.6523 -121.55 -92.8058
g |Line.6326¢ 2 2 77.6598 134.495 330.242 127.982 -77.4483 -134.28 -327.694 -135.785
9 |Line.p456¢ 2 2 774483 13428 157.699 0.787801 -77.1835 -134.073 -157.436 -0.57811
10 |Line.6926: 2 3 488272 149902 68.3134 -156.95 290.631  26.462 -485.024 0.618705 -67.9973 157.447 -290.039 -26.5412
11 |Line.6716: 2 2 122993 824055 164.259 -14.9037 -122.785 -82.196 -163.887 15.1624
12 |Line.6846 2 1 163.887 -15.1624 -163.505 15.5487
13 |Line.6846! 2 1 122785 82196 -121.994 -81.9651
14 | Capacitor. 2 3 0 -190.629 1.46E-14 -217.445 -1.46E-14 -185.488 0 0 0 0 0 0
13 |Capacitor. 2 1 0 -92.4523 0 0
16 | Transform 2 4 102406 612,708 124212 4189659 1300.88 704.684 0 0 -1252.01 -685.112 -972.794 -379.094 -1342.26 -672.147 0 0
17 | Transform 2 4 16256 114.647 121.457 92.6523  121.55 92.8058 0 0 -160.007 -110.005 -119.957 -89.3977 -120.011 -90.0087 0
18 | Transform 2 2 1252.01 685.112 0 0 -1252 -684.989 0 0
19 | Transform 2 2 972794 379.094 0 0 -972.788 -379.027 0 0
20 | Transform 2 2 1342.26/ 672147 0 0 -1342.24 -672.01 0 0
21 |Line.6716¢ 2 3 531108 123.281 68.3181 -156.945 414,58 52.8336 -531.055 -123.228 -68.3134  156.95 -414.548 -52.8011
22 |Load.671 1 3 385366 207.345 396.017 240.179 373.631 212.515
i 2 160 110,007 0 0 [~]
IEEE13BARRAS_EXP_ElemPowers ‘ @ 4] [v]
Raadu H = M - B )




File Edit Do
el &a
C:\Users\HP\Des

ye | Plot | Reset Help

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Snap
Mumber = 100

Load Mult = 1.000
Devices = 39

Buses = 16

Modes = 41

Control Mode =STATIC
Total Iterations = 11
Control Iterations = 3
Max Sol Iter = 4

- Circuit Summary -

N Circuit Plots » 550632 v @ e v p|| @] X @ ||Base Frequency = 60 Hz
\DSSFile Monitor larras, v | aé| & || “

Loadshapes

Clear | e ‘1
rofi

TCCC = 22
/Z Files que descrew vES
Redirect subestacao Interpolate
Redirect linecodes.d Options...

Redirect lines dss

Redirect loadshape.dss

Redirect loads_dss

Redirect capacitors dss

Redirect transformer_sub. dss

Redirect transformer_dss

Redirect regulators.dss
Redirect switches.dss

Redirect tenszao_base.dss

solve

Main | MASTER_RedeTestel3Barras.dss | lines.dss
Messages main
Summary | Resull5|
Memony: 33260K Circuit Status: SOLVED Total Iterations = 11, Control Iterations = 3. Max Solution Iterations = 4




4

A T T R o L T ]

3, Max Sclution Iterations

Distance (km)
Total Iterations = 11, Control Iterations

R R R R R R R E R R e R R R N R TER S

o s S L aa s nnn s To s ed] SEs e hann nans

o L i e

OpenDSS Data Directory: CA\Users\HP\Desktop\openD55\Paulo_Example\DSSFiles\,

Edit View About

1.0201-
0.960 -

File

Plg

Redirect transformer.dss
Redirect regulators.dss

Redirect switches.dss

Redirect tensao_base_ds

Redirect subestacao.dss
Redirect linecodes.dss
Redirect transformer_sul

Redirect lines.dss
Rediect loadshape.dss

#7 Files que descrevem ¢
Redirect loads.dss
Redirect capacitors.dss

Messages mMain

Clear
H
solve

Export Show Visualize

Circuit Status: SOLVED

Set  Make

=3

4

Do
= 1.000

16

Edit

C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles)

RO E R ||PDeIements

Results for Actor ID # 1

CPU selected : 0
Status = SOLVED
Summary ‘RBEU“SS|

Control Mode =STATIC
Total Iterations = 11
Control Iterations

Man Sol Tter
- Circuit Summary -

File

Solution Mode = Snap
Mumber = 100

Load Mult

Devices = 39

Buses

Modes = 41

Mermory: 33152K




Edit View About

L-N Voltage Profile

5 mnlm| o] |1 2lm(h

f

L-N Voltage Profile

Distance (km)

File Edit Format View Help

SOURCEBUS ( @) 8 8 ( @) /[ 8.8
SOURCEBUS ( @) 8 8 8) /_ 8.8
SOURCEBUS ( @) @ 8 ( @)/ 0.0
ELEMENT = "Line.658632"

REG ( 4) 1 .5368 ( .@s58) / 8.8
REG (5 2 4918 ( 1.837) /_ -120.0
REG ( 6) 3 .5368 ( .856) /_ 128

ELEMENT = "Line.b70671"

678
678
678

ELEMENT = "Line.671688"

671
671
671

( 1)
(11)
(12)

(13)
(14)
( 15)

1
2
3

1
2
3

1
2
3

.4785
.3776 (

(
(

L4118 (
.4785 (
.3776 (

.3608 (
.4987 (
.3179 (

.3608 (
.4987 (
.3179 (

.004)
.832)

0.9899)

1.804)
1.0832)
.9899)

.9829)

1.04)

.9651)

.9829)

1.04)

.9651)

"
I 49T
I 97

£ o5
i 49
/_ 11s.

I -
7 A
/_ 116.




Voltages
it View About

a| ojae S VCEIR [ - =S 2o q| LA ERE

p.u. Voltage L-N Voltage Profile Line.650632 Voltages

N\__ Rightclickentheline S
BN IR

View Currents

View Powers

Values

1.03747  /_ 12000 * A 102903 712106

A 100436 1 1TTR

Line.§50632

Distance (km)




=1 OpenDSS Data Directory: C\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\

File Edit Do S5et Make ExportMELat Reset Help
= & a = | ﬂE&DﬂL vILoadSMlHl

C:\Users\HP\DesktopopenD5SS\Faulo_Example\DSSFiles\MASTER

"l c v p || e | ¥ 4 | |Base Frequency = 60 Hz

Results for Actor ID # 1
CPU selected : 0

Status = SOLVED
Solution Mode = Snap
MNumber = 100

Load Mult = 1.000

Devices = 39
Buses = 16
MNodes = 41

Control Mode =5TATIC
Total Iterations = 11
Control Iterations = 3
Max Sol Tter = 4

- Circuit Summary -

Clear

22

Redirect subestacao. dss
Redirect linecodes. dss
Redirect lines_ dss

Redirect loadshape ds=
Redirect loads. dss

Redirect capacitors.dss
Redirect ransformer_sub_dss
Redirect ransformer_dss
Redirect regulators_dss
Redirect switches. dss

Redirect tenzao_base. dss

solve

File

N

Edit View About

CN=NEN

% Bm(E| m| o[ EHE & e

/7 Files que descrevem o circuit

Main | MASTER_RedeTeste13|

summary |Re€=5u"-5|

Messages pMain

p.u.

=

Loadshape = 1

2.00

Memonry: 33072K

Circuit Status: SOLVED




File Edit Do 5et Make Export Show  Visualize Plot

Ee 8O F 8

Reset  Help

Bloosshope

v||| v| ¢ v P || [®]| X 3| [Base Frequency = 60 Hz

enDSS\Paulo_Example\DSSFiles\MASTER_RedeTestel13Barras.dss v‘ﬂ' g?| b |C:\Users‘\HP‘I.Desktop‘\openDSS‘\Pauk}_E:-EmpIe‘\DSSFiIes‘\IEEElEBARRAE|

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Snap
Mumber = 100

Load Mult = 1.000
Devices = 39

Buses = 16

Modes = 41

Control Mode =5TA
Total Iterations = 11
Contral Iterations = 3
Max Sol Tter = 4

- Circuit Summary -

File Edit Do Set Make

ER-AR -0 -R-1R=1

Clear

i

/f Filez que descrevem o circuito

Redirect subestacao_dss

Redirect linecodes dss
Redirect lines.dss

edirect

edirect loads. ds
Redirect capacito
Redirect transfor
Redirect transfor
Redirect regulato
Redirect switches

Do Selected

Save This Window
Close Window

Change to this Directory

Redirect tensao_L

Open Selected File

solve

Edit Selected File

Change Font...

Export Show Visualize

Plot Reset Help

General v |

/|[8

Jsers\HP\Deskto SS\Paulo_Example\DSSFiles\MASTER_RedeTeste13Barras.dsg

v|GV P||

e | X 4 | |Base Frequency = 60 Hz

v|& §# | $ C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFies\IEEE1 3BARRAS

Results for Actor ID # 1
CPU selected : 0

Status = SOLVED
Solution Mode = Snap

i

1/

/#Curvas de carga

New Loadshape.1 npts=24 interval=1 mult=(0.123000001 0.15000000 0.23999999 0.32000001 0.38999999 0.41000000 0.64999998 1.23000002 1.88399999 1.88999999 1.96000004 1.98000002 1.450000(

Mumber = 100 Imult=[File=L oad5hape1.czv]

Load Mult = 1.000

Devices = 39 Mew Loadshape.2 npts=24 interval=1 mult=[D.63000000 0.50999999 0.44999999 0.41999999 0.55000001 0.85000002 1.01999998 0.80000001 0.899399938 0.91000003 1.02999997 1.03999996 1.110000(
Buses = 16 Imult=[File=LoadShape2.czv]

Modes = 41

Control Mode =STATIC I 1

Total Iterations = 11
Control Iterations = 3
Max Sol Tter = 4

- Circuit Summary -




) .
a2
File

e 8@ R &

e

Edit Do Set Make Export Show Visualize Plot Reset Help

9loodshope

v| 0

vB e v p|

enDSS\Paulo_Example\DS5Files\MASTER_RedeTeste13Barras.

@ | g | |Base Frequency = 60 Hz
g v|E:" 5{‘| @|C:\Users\HP‘l,Desktop‘l.openDSS‘\Paqu_ExampIe\DSSFiIes\IEEElSBARRM“

Results for Actor ID # 1
CPU selected : 0
Status = SCOLVED
Solution Mode = Snap
Number = 100

Load Mult = 1.000
Devices = 39

Buses = 1o

Nodes = 41

Control Mode

Total Iteratio

Control Iterations = 3
Max Sol Iter = 4

- Circuit Summary -

File Edit Do Set Make

Export Show Visualize

Clear

i

Redirect zubestacao dss
Redirect linecodes. dss
Redirect lines_dss

Redirect loadzhape.dss
Redirect capacitors.dss
Redirect transformer_sub._dss
Redirect transformer.dss

Redirect regulators_dss
Redirect switches. dss

Redirect tensao_base.dss

solve

/7 Files que descrevem o circuito

Do Selected

Save This Window
Close Window

Change to this Directory

Open Selected File

D

Edit Selected File

Change Font...

Plot Reset Help

LcnadSha e|

ML

v® e v op|

enDSS\Paulo_Example\DSSFiles\MASTER_RedeTeste13Barras.dss

® | g | |Base Frequency = 60 Hz
v|Eﬁ 5{‘| -& |C:‘\Users‘\HP‘l.Desktop‘l.openDSS‘l.P‘auk}_E)mmpIe‘l.DSSFiIes‘l.IEEElSBARRAEl

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Snap
Mumber = 100

Load Mult = 1.000
Devices = 39

Buses = 1o

Nodes = 41

Control Mode =STATIC
Total Iterations = 11
Control Iterations = 3
Max Sol Iter = 4

- Circuit Summary -

i

i

// Dados das cargas

New Load.634a Bus1=634.1
Hew Load 634b Bus1=634.2
New Load 634c Bus1=634_3
New Load 645 Bus1=645.2
Hew Load. 646 Bus1=646.2_3
Hew Load 632 Bus1=692.3.1
New Load 67/5a Bus1=675.1
Hew Load.675b Bus1=675.2
Hew Load . 675c Bus1=675.3
Hew Load 611 Bus1=611_3
New Load 652 Bus1=652.1
New Load.670a Bus1=670.1
Hew Load. 670b Bus1=670.2
New Load 670c Bus1=670_3

Mew Load.671 Bus1=671.1.2.3 Phases=3 Conn=Delta Model=1 daily=1

-

Phazes=1 Conn=Wye Model=1 daily=2
Phases=1 Conn=wye Model=1 daily=2
Phaszes=1 Conn=Wye Model=1 daily=2
Phases=1 Conn=Wwye Model=1 dailp=2
Phases=1 Conn=Delta Model=2 dailyp=2
Phases=1 Conn=Delta Model=5 daily=2
Phases=1 Conn=wye Model=1 dailp=2
Phases=1 Conn=wye Model=1 dailp=2
Phases=1 Conn=Wye Model=1 dailp=2
Phases=1 Conn=%Wye Model=5 daily=2
Phazes=1 Conn=Wye Model=2? dailp=2
Phases=1 Conn=wye Model=1 dailp=2
Phases=1 Conn=Wye Model=1 dailp=2
Phases=1 Conn=wye Model=1 daily=2 k¥

EeesmmmEERET

<

ZETTER

-

W

AN
i e g g B e

M MR

4 16 kw=1155 kvar=660

Falalist]

277 KwW=160
277 KW=120
277 KW=120
4
16 kKwW=230
16 kKwW=170

kwar=110
kvar=90
kvar=30
kwar=125
kvar=132
kvar=151
kwi=48% kvar=190
kw=68 kvar=60
kEw=290 kvar=212
kW=170 kvar=80
k'wW=128 kvar=86
kw=17 kwvar=10
kwW=66 kwar=38
kWw=117 kvar=63

kKw'=170
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File Edit Do Set Make Export Show Visualize Plot Reset elp

v@e v el

v| & i | % Unknown parameter "steosize” for Set Command

- | Qg | |Base Frequency = 60 Hz

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Daily
MNumber = 24

Load Mult = 1.000
Devices = 40

Buses = 16

Modes = 41

Control Mode =STATIC
Total Iterations = 0
Control Iterations =0
Max Sol Tter =0

- Circuit Summary -

Clear

27 27

/7 Filez que descrevem o circuito

Redirect subestacao_ dss
Redirect linecodes.dss

Re ct lines_dss

Redirect loadzhape.dss
Redirect loads._dss

Redirect capacitors.dss
Redirect tranzsformer_sub_dss
Re ct transformer_dss
Redirect regulatorz_dss
Redirect switches_ dss

Redirect tensao_base. dss

MHew monitor. demanda element=line. 650632 terminal=1 mode=1 ppolar=no
set mode=daily
set number=24
set steosize=lh

solve

Main MASTER_RedeTestel3Barras.dss | lines.dss | loadshape.dss | loads.dss

Messages main

Summary |REEU“5|

Femnne 34956K

Circuit Statos SOWED Total lteratinns = ) Control Feratinns = 0 May Salution [terations = 00




i A T

B OpenDSS Data Directory: C\Users\HP\Desktop\openD55\Paulo_Example\DSSFiles\, - O X | \
File Edit Do Set Make Export‘ Plot Reset Help 48

&3 ER ||PCeIements vlLoad v||| v| ¢ v P || ®| ¥ 9| [Base Frequency = 60 Hz

J enDSS\Paulo_Example\DSSFiles\MASTER_RedeTeste13Barras.dss v|E‘3‘ aﬁ| @-|C:‘l.Users‘l.HP‘I.Desktop‘l.openDSS\Paulo_ExampIe\DSSFiIes‘l,IEEEBEARRAS

Results for Actor ID # 1 Clear

CPU selected : O . B .
Status = SOLVED I File Edit View About

Solution Mode = Dail 27 Fil d ircuit 1,
Nﬂ;bc;::; aily iles que descrevem o circuito ﬂ @\l EL‘@\l @ % allﬂ t‘x||

Load Mult = 1.000 Redirect subestacao.dss
Devices = 40 Redirect linecodes. dss

Buses = 16 Redirect lines.dss Mag demanda: P1 (kiW), P2 (kW), P3 (kW)
Modes = 41 Reduect loadshape.dss /

Control Mode =STATIC Redirect loads.dss
Total Iterations = 13 Redirect capacitors.dss ol :
Control Iterations = 3 Redirect transformer_sub_dss - SUEUL=
Man Sol Iter = 5 Redirect transformer.dss
Rediect regulators. dss
- Circuit Summary - Redirect switches.dss Select One or More Columns

From CSV File
Lf::: =g4 Redirect tensao_base dss
Max pu. voltage = 1.0588 New monitor.demanda element=line. 650632 terminal=1 mode=1 ppol | |=
Min pu. voltage = 0.99057
Total Active Power:  2,40879 MW et mode=daily
Total Reactive Power: 0.881567 set number=24
Mvar set stepsize=1h
Total Active Losses: 0.0530838
MW, (2,204 %) solve
Total Reactive Losses: 0.145278
Muvar
Frequency = 60 Hz
Mode = Daily
Control Mode = STATIC
Load Model = PowerFlow

AT
/

Main  MASTER_RedeTestel3Barras.dss | lines.dss | loadshape.dss | loads.dss

Messages Main

Summary |R£‘EU|15|

Memaory: 33408K Circuit Status: SOLVED Total terations = 13, Control Iterations = 3, Max




File Edit Wiew About

e ojaje| @] % EmlEm| m| o] EHE o = [E =

Mag demanda: P1 (kW), P2 (kW), P3 (kW)

e

I
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File Edit Do Set Make Export Show Visualize Plot Reset Help
=R | PCelements v | Load v||| v| ¢ v P || ®| ¥ §||Base Frequency = 60 Hz

enDSS\Paulo_Example\DSSFiles\MASTER_RedeTestel3Barras.dss ||

Results for Actor ID # 1 Clear

CPU selected : 0

Status = SOLVED Ird v

Solution Mode = Daily /f Filez que descrevem o circuito

Number = 24

Load Mult = 1.000 Redirect subestacao.dss

Devices = 40 Redirect linecodes. dss

Buses = 16 Redirect lines.dss

MNodes = 41 Redirect loadshape dss

Control Mode =STATIC Redirect loads.dss

Total Iterations = 13 Redirect capacitors_dss

Contral Iterations = 3 Redirect transformer_sub.dss

Max Sol Iter = 5 Redirect transformer dsz

Redirect regulators_ dss

- Circuit Summary - Redirect switches. dss

Year =0 Redirect tenzao_base_dss

Hour = 24

Max pu. voltage = 1.0538 || nda element=line.650632 terminal=1 mode=1 ppolar=no

Min pu. voltage = 093057

Total Active Power:  2,40879 M set mode=daily

Total Reactive Power: 0.881567 set number=1

Mvar set stepsize=1h

Total Active Losses: 0.0530838 set hour=12

MW, (2,204 %)

Total Reactive Losses: 0.145278 zolve

Mvar il i i

Saslp— File Edit Format View Help

E“:S;;ﬁ:g\é E— Hour=13, Sec=8, Controllter=1, Element=Regulator.regfasec, Action= CHANGED 8 TAPS TO 1.85.

Load Madsl = PawerFlow Hour=13, Sec=8, Controllter=1, Element=Regulator.regfaseb, Action= CHANGED & TAPS TO 1.8375.

AT e e e Hour=13, Sec=8, ControlIlter=1, Element=Regulator.regfasea, Action= CHANGED & TAPS TO 1.85.
Hour=13, Sec=8, Controllter=2, Element=Regulator.regfasec, Action= CHANGED 2 TAPS TO 1.8625.
Hour=13, Sec=8, ControlIter=2, Element=Regulator.regfaseb, Action= CHANGED 2 TAPS TO 1.85.
Hour=13, Sec=8, Controllter=2, Element=Regulator.regfasea, Action= CHANGED 2 TAPS TO 1.8625.
Hour=13, Sec=8, Controllter=3, Element=Regulator.regfasec, Action= CHANGED 1 TAPS TO 1.86875.
Hour=13, Sec=8, Controllter=3, Element=Regulator.regfasea, Action= CHANGED 1 TAPS TO 1.86875.

Main  MASTER_ RedeTeste
Messages Main
Summary |REEU||15|
Mernory: 35496k

Circuit Status: SOLVED I otal Iterations = 13, Control Iterations = 3, Max Solution Iterations = 3

e _— —

——
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File Edit Do Set Make Export Show Visualze Plot Reset Help

| PCelements v |Load v|

Flle Edit Do Set Make Export Show Visualize Plot Reset Help

Be| 8983 E|rceenents
enD55\Paulo_Example\DSSFiles\MASTER, RedeTestel3Barmas.ds

sers\HP\Deskto)

,,‘ ¢ v p|| o X 9 BaseFrequency = 60 Hz
v|E ﬁﬂ -;ii|C:\Users\HP\Desktop\openDSS\PauIo_ExampIe\DSSFHes\IEEElSBARRAEH

v |Load v |

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Daly
Number = 1

Load Mult = 1,000
Devices = 40

Buses = 16

MNodes = 41

Control Made =STATIC
Total Iterations = 15
Control Iterations = 4
Man Sol Iter = 4

- Circuit Summary -

Year =0

Hour = 13

Max pu. voltage = 1.0687

Min pu. valtage = 0.94734

Total Active Power: 4.3911 MW
Total Reactive Power: 2.37457
Mvar

Total Active Losses: 0.169998
MW, (3.871 %)

Total Reactive Losses: 0,505602
Mvar

Frequency = 60 Hz

Mode = Daly

Cantrol Made = STATIC

Load Madel = PowerFiow

Clear

H 1
H Files que descrevem o circuito

Redirect subestacao.dss
Redirect linecodes.dss
Redirect lines.dss

Redirect loadshape.dss
Redirect loads.dss

Redirect capacitors.dss
Redirect transformer_sub.dss
Redirect transformer.dss
Redirect regulators.dss
Redirect switches.dss

Rediect prspstemexample.dss —

Redirect tensao_base. dss

New monitor.demanda 650632 k

inal=1 mode=1 ppol,

set mode=daily
set number=1
set stepsize=1h
set hour=12

solve

Results for Actor ID # 1
CPU selected : 0

# P-T curve is per unit of rated Pmpp vs temperature
24 This one s for-a Pmpp stated at 25 deg

Status = S0LVED

New XYCurve. MyPysT npls—'l xaray=[0 25 75 100] yarrap=[1.21.00.8 0.6] |

Solution Made =Dally
Number = 1

11 _effick

Load Mult = 1,000 (

New XYCurve MyEIf npts=4 xaay=[.1 .2 4 1.0] yanay=[86 9 .93 .97]

Devices = 40
Buses = 16

I I if “irradiance"

Nodes = 41 [
Control Mode =STATIC

per unit inadiance curve [per unit if "iradiance” property]
New Loadshape Mylrad npts=24 interval=1 mult=[0 00000.1.2.3 5 8 91010 .99 9.7 4 10000 0] ]

Total Iterations = 15

24 24-hu temp shape curve

Control Iterations = 4 [

New Tshape.MyTemp npts=24 interval=1 temp=[25, 25, 25, 25, 25, 25, 25, 25, 35, 40, 45,50 6060 5540 35 30 252525 25 25 25] ]

Max Sol Iter = 4
= Circuit Summary -

Year =0
Hour = 13

# pv definition

INew PY¥System PV phases=3 busl=trafo_pv k¥=0.48 k¥A=2000 imad=98 Pmpp=1800 temperature=25 PF=1 ¥cutin=0.1 %cutout=0.1 effcurve=Myeft P-TCurve=MyPvsT Daily=Mylriad TDailp=MyTemp !

Max pu. voltage = 1.0687
Min pu. voltage =0.94734
Total Active Power:  4.3911M)
Total Reactive Power: 2.37457

New P¥System.PY phases=3 busl=trafo_pv k=0.48 k¥A=600 irrad=.98 Pmpp=500 temperature=25 PF=1 %cutin=0.1 %cutout=0.1 effcurve=Myeff P-TCurve=MyPvsT Daily=Mylirad TDaily=MyTemp !del

Mvar

Total Active Losses: 0.159998
MW, (3.871%)

Total Reactive Losses: 0,505602
Mvar

Frequency = 60 Hz

Mode = Daly

Control Made = STATIC

Load Model = PowerFlow

Main | MASTER_RedeTeste13Barras.dss | lines.dss | loadshape.dss | loads.dss | pysystemexamp

Messages Main

Summary |RBSIJ|15|

New Transformer.py_up phases=3 xhi=h. 750000
~ wdg=1 bus=tiafo_py k¥=0.48 k¥A=750.000000 conn=wye
~ wdg=2 bus=680 k¥=4.16 k¥A=750.000000 conn=wye

< >

Main | MASTER_RedeTestet3Barres.dss | lines.dss | loadshape.dss | loads.dss | pyeystemexample.dss

Summary |R55liﬁ5|

Messages penDSs - C:\Users\HP\Desktop\openDSS |Paulo_Example|\DSSFiles\pvsystemexample.dss

Memorv: 32784K

Circuit Status: SOLVED

Total lterations = 15. Control lterations

Memaory: 32784K

Circuit Status: SOLVED

Total lterations = 15, Contrel lterations = 4, Max Solution lterations = 4



=B OpenD5SS Data Directory: C\Users\HP\Desktop\openD55\Paulo_Example\DS5Filesy,

File Edit Do 5Set Make Export Show —Yisoatze Piot  Reset  Help
= & QB & v |LoadShape v | IMYIRRAD vV@ c v P

Jsers\HP\Desktop\openDSSYPaulo Example\DSSFiles\MASTER_RedeTeg

o N . ; I i

Results for Actor ID # 1
CPU selected : D
Status = SOLVED
Solution Mode = Snap
Mumber = 100

Load Mult = 1.000
Devices =41

Buses = 17

Modes = 44

Control Mode =5TATIC
Total Iterations =0
Control Iterations =0
Max Sol Iter =0

- Circuit Summary -

Clear

"

File Edit View About

/7 Filez que descrevem o circuito

Redirect subestacao.dss
Redirect linecodes. dss
Redirect ines dss

Redirect loadshape.dss
Redirect loads.dss

Redirect capacitors.dss
Redirect transformer_sub.dss
Redirect transformer.dss
Redirect regulators.dss
Redirect switches. dss

Redirect pysystemexample.dss
Redirect tenzao_base dss

Mew monitor.demanda element=line.
zet mode=daily

szet number=1
zel stepsize=1h

el ejaja (8

p.u.

% (B n| «|]

Loadshape = MYIRRAD

1.00

get hour=12
solve
Main MASTER_RedeTestel3Barra

Messages Main

Results

Summary

MMermnre: 14140K

Circunt Statos: SCHVED

A Erarinns — VAT Eratinns —

Wiaw Solutinn Feratinns =

e | X 3 | |Base Frequency = 60 Hz,




o

Chave

Sistema Fotovoltaico

Q)=

Transformador




File Edit Do 5Set Make

Export Show Visualize Plot Reset Help

w | LoadShape

e &AAE R ||Genera|
J

sers) i enD55\Paulo_Fxample\DSSFiles\MASTER_RedeTeste13Barras.ds:

v| C vV P || - | o @HB&SE Frequency = 60 Hz

v‘t* g#| @- |C:‘\Users‘l.HP\Desktnp‘l.openDSSIPauk}_Exzmp|e1DSSFiIes\IEEE138ARRAE|

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Snap
Mumber = 100

Load Mult = 1,000
Devices = 41

Buses = 17

MNodes = 44

Control Mode =STATIC
Total Iterations = 0
Control Iterations =0
Max Sol Iter =0

- Circuit Summary -

Clear
M

i

/7 Files que descrevem o circuito

Redirect subestacao.dss
Redirect linecodes.dss
Redirect lines.dss

Redirect loadshape.dss
Redirect loads.dss

Redirect capacitors_dss
Redirect transformer_sub.dss
Redirect tranzformer.dzs
Redirect regulators. dss

Redi
Redirect prsystemexample.dss

Redirect tensao_base.dss

set mode=daily
set number=24
sel stepsize=1h

Hew monitor. PY_powers element=P¥5ystem.P¥ terminal=1 mode=1 ppolar=no

solve

Main ‘MASTER_R&deTestelBBarras.dss | Iines.dssl loadshape.dss | Iuadsdssl pvsystemexample.dss

Summary | Results

Messages Main

Memorny: 14140K

Circuit Status: SOLVED

Total lterations = 0, Control lterations = , Max Solution lterations = 0




- B
File Edit Do Set Make

:::'!

Export  Show Visualize
= | HGeneral

OpenDSS Data Directory: C\Users\HP\Desktop\openD55\Paulo_Example\DS5Filesy,

Plot Reset Help

W |LoadSha

Jsers\HP\Desktop\openD55\Paulo_Example\DSSFiles\MASTER _Rei vy v

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Daily
Mumber = 24

Load Mult = 1,000
Devices = 42

Buses = 17

Nodes = 44

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Iter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1.0538

Min pu. voltage = 0.25057

Total Active Power:  2,40879 MW/
Total Reactive Power; 0,881568
Muar

Total Active Losses: 0.0530838
MW, (2,204 %)

Total Reactive Losses: 0.145279
Myar

Frequency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Model = PowerFlow

Clear

M

&/ ejaje|

=

Redirect subestacao.dss
Redirect linecodes. dss
Redirect lines_dss

Redirect loadshape.dss
Redirect loads_dss

Redirect capacitors.dss
Redirect transformer_sub_dss
Redirect transformer_dss
Redirect regulators.dss
Redirect switches. dss

Redirect pysystemexample.dss

Redirect tensao_base.dss

set mode=daily
set number=24
set stepszize=1h

solve

Hew monitor. PY_powers element

## Files que descrevem o circuit Mag

: P1(kW), P2 (kW), P3 (kW)

Main | MASTER_RedeTestel3E

Summary | Results

Messages pain

Memory: 13248K

Circuit Status: SOLVED

Total lterations = 13, Control lterations = 3, Max Solution Iterations = 5




File Edit Do Set Make

B @| R3E B .||Genera|

OpenDSS Data Directory: C\Users\HP\Desktop\openDS5\Paulo_Example\DS5Files),
Export Show Visualize Plot Reset Help

v |LoadShape

2l

enDS5\Paulo_Example\DSSFiles\MASTER_RedeTestel3Barras.ds3g%

File Edit View About
C:\Users\HP

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Daily
Mumber = 24

Load Mult = 1.000
Devices = 42

Buses = 17

MNodes = 44

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Iter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1.0588

Min pu. voltage = 0.99057

Total Active Power:  2.40873 MW
Total Reactive Power: 0,881568
Myar

Total Active Losses: 0.0530838
MY, (2,204 %)

Total Reactive Losses: 0.145279
Mvar

Frequency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Model = PowerFlow

Clear

1

/# Files que descrevem o circuito

Redirect subestacao.dss
Redirect linecodes. dss
Redirect lines.dss

Redirect loadshape_dss
Redirect loads.dss

Redirect capacitors.dss
Redirect transformer_sub_dss
Redirect transformer. dss
Redirect regulators.dss
Redirect switches. dss

Redirect pvsystemexample_dss

Redirect tensao_base dss

_powers: P1 (kW), P2 (kW), P3 (kW)

Eil b

Hew monitor. PY_powers element=Transformer.py_up terminal=1 mode=1 ppolar=no

set mode=daily
set number=24
zet stepzize=1h

solve

Main  MASTER_RedeTestel3Barras.dss | lines.dss | loadshape.dss | loads.dss

Summary |R£'—'5U|15|

Messages Main

Mernory: 16000K

Circuit Status: SOLVED

Total lterations = 13, Control lterations = 3, Max Solution lterations = 5




File Edit Do S5et Make

Export  Show  Visualize

Plot Reset Help

Solution Mode = Daily
Number = 24

Load Mult = 1.000
Devices = 43

Buses = 17

MNodes = 44

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3

Max Sol Iter = 5

- Circuit Summary -
Year =0

Hour = 24

Max pu. voltage = 1.0538

Min pu, voltage = 0.93057
Total Active Power:  2.40879 M
Total Reactive Power: 0,881568
Muar

Total Active Losses: 0.0530838
MW, (2,204 %)

Total Reactive Losses: 0, 145279
Mwar

Frequency =60 Hz

Mode = Daily

Control Mode = STATIC

Load Model = PowerFlow

// Files que descrevem o circuito

Redirect subestacao.dss
Redirect linecodes.dss
Redirect lines.dzs

Redirect loadshape.dss
Redirect loads. dss

Redirect capacitors.dss
Redirect transformer_sub.dss
Redirect transformer.dss
Redirect regulators_dss
Redirect switches.dss

Redirect przystemexample.dzs

Redirect tensao_basze.dss

Mew monitor. PY¥_powers element=Transformer. py_up terminal=1 mode=1 ppolar=no
Mew monitor PY¥_variables element=P¥5yztem_P¥ terminal=1 mode=3

set mode=daily
set number=24
set stepsize=1h

solve

e RIE B ||Genera| v |LoadShape v‘ ¢ v p|| ®| X §|[BaseFrequency = 60 Hz
5| sktop\openDSS\Paulo_Example\DSSFiles\MASTER_RedeTestel3Barras.dss v‘@‘ f{‘ | @| ||

Results for Actor ID # 1 Clear

CPU selected : 0

Status = SOLVED H 1

Main HMSTER_RedeTesleBBarras.dssl lines.dss | loadshape.dss | loads.dss | pvsystemexample.dss

Summary | Results

Messages Main

Memony: 16044K Circuit Status: SOLVED

Total lterations = 13, Control lterations = 3, Max Solution lterations = 5




o= x < e

File Edit View About File Edit View About File Edit View About

&| ajaje| % e r| o] | &l ajaje % e | o SECE e| ajae @ 4 (= n| o o8| H
Mag pv_variables: Irradiance Mag pv_variables: PanelkW Mag pv_variables: FOTFactor
s — T 1.000
/ N = v /
0.80 0.980
300 0.960
0.60
0.940
200
0.40 0.920 /
0.900
100
0.20
0.880
0.00 0 0.860
5.0 10.0 15.0 20.0 5.0 10.0 15.0 20.0 5.0 10.0 15.0 20.0
Time, H Time, H Time, H
x x i
File Edit View About File Edit WView About
el e|nje b mmlE| n| o o | [E &l ajae $ BBl R o E
Mag pv_variables: Efficiency 10000.00 Mag pv_variables: Vreg i
1.000
9999.50
0.950
LT \
9999.00
|
0.300
9998.50
0.850 9998.00
5.0 10.0 15.0 20.0 50 10.0 15.0 20.0
Time, H Time, H




& OpenDSS Data Directory: C\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\ - 0

File Edit Do 5et Make Export Show Visualize Plot Reset Hel
: ; ' g s IEEE13BARRAS_MONITOR-PV_VOLTAGE-ch1-ch3-ch5.DSV - %'9
] ‘ &3 EH ‘ Source/Fault v Vsource v ‘ v &

e T N T S EETR S v (& i# | @ |C:\Users\Hp\Deskfl File Edit View About

i le| ojoje 5 (e n| o] | 2HE &8 [E 4
Results for Actor ID # 1 |Clear
CPlU selected : 0
Status = SOLVED H Mag pv_voltage: V1, V2, V3
Solution Mode = Daily /7 Files que descrevem o circuito 300.0
Mumber = 24 ./ \
Load Mult = 1.000 |Redirect subestacao.dss | \
Devices = 44 |Redirect linecodes. dss
Buses = 17 |Redirect lines.dss \
Modes = 44 |Redirect loadshape.dss
Control Mode =STATIC Redirect loads. dss /
Total Iterations = 13 |Redirect capacitors.dss y / \\
Control Iterations = 3 |Redirect transformer_sub.dss 290.0 / / \ =
Max Sol Tter = 5 Redirect ransformer. dss \ e
| Redirect regulators.dss P / Ly
- Circuit Summary - Redirect switches.dss i .
Year =10 Redirect pysystemexample. dss
Hour = 24 | -
Max pu. voltage = 1.0538 Redirect tensao_base. dss 280.0 il ""'Fi\
Min pu, voltage = 0,99057 . ; \
Total Active Power: 2.40879 MW | || New monitor.PY_powers element=Transformer. py_up terminal=1 mode=1 ppolar=no / /
Total Reactive Power: 0.831568 |New monitor. PY¥_variables element=F¥System. P¥ terminal=1 mode=3 \
Mvar (I//New monitor.P¥_voltage element=P¥S5ystem.PY terminal=1 mode=0 | |
Total Active Losses: 0.0530838 | | ™ LA
M, (2,204 %) | set mode=daily ™~ \..---"
Total Reactive Losses: 0,145279 set number=24 N \__ \
Myar set stepsize=1h 270.0 \
Frequency =60 Hz vl o
Mode = Daily /
Control Mode = STATIC solve ]
Load Model = PawerFlow \""- \\
g
260.0 e
8.0 10.0 15.0 20.0
Time, H




=
File Edit Do Set Make

| | | Source/Fault

Export Sh

w |\Msource

v | &
C:\Users\HP\Deskt

Results for Actor ID # 1
CPU selected : O
Status = SOLVED
Solution Mode = Daily
Mumber = 24

Load Mult = 1.000
Devices = 45

Buses = 17

Modes = 44

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Iter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1.0588

Min pu. voltage = 0.99057

Total Active Power:  2,40879 MW
Total Reactive Power: 0.881558
Mvar

Total Active Losses: 0.0530333

2F

/7 Files que descrevem o circuito

Redire
Red

Redire
Redire
Redire
Redire
Redire
Red
Redire
Redire

Redire

ct subestacao.dss

ct linecodes_dss

ct lines.dss

ct loadshape._dss

ct loads.dss

ct capacitors. dss

ct transformer_sub.dss
ct transformer_dss

ct regulators_dss

ct switches. dss

ct przystemexample.dss

P¥System PY_enable=no

Redire

Hew monitor. PY_powers element=Transformer.pv_up terminal=1 mode=1 ppolar=no
Hew monitor. PY_variables element=P¥5System_PY¥ terminal=
Hew monitor. PY_voltage element=P¥5ystem_P¥ terminal=1 mode=0

ct tenzao_basze dss

Total Reactive Losses: 0.145279

MW, (2,204 %)
Mwvar [

Hew monitor. demanda element=line. 650632 terminal=1 mode=1 ppolar=no ]

Freguency = 50 Hz
Mode = Daily

Control Mode = STATIC
Load Model = PowerFlow

zet mo

de=daily

set number=24
sel stepsize=l1h

solve

Main

MHSTER_RedeTeste_‘:SBarras.dssliines.dss loadshape.dss | loads.dss | pvsy:

Summary |Rﬂﬁuﬁ5

Messages Main

File Edit View About

e| ejaje| [

OpenDSS Data Directory: Ch\Users\HP\Desktop\openDSS\Paulo_Example\D55Filesy,
ow Visualize Plot Reset Help

% BmlEs| n| o)) HHEEE & s 2

demanda: P1 (kKW), P2 (KW), P3 (kW)

P
yd

e
[

/|
A

L1
L~

T
]

Memony: 16156K

Circuit Status: SOLVED

Total lterations = 13, Control lterations = 3, Max Scolution lterations = 5




File Edit Do Set Make

| B ||source/Fault

Plot  Reset Elp

Export Show Visualize

v Vsource v
edeTestel3Bal

V| ¢ v p|| [®| X 9| |BaseFrequency = 0 Hz
v B 5f| B ‘C:\Users\HP\Desktop\openDSS\PEUID_E:GmpIe\DSSFi\es\IEEEBBARRAE“

aulo_BExample\D:

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Daily
Number = 24

Load Mult = 1.000
Devices = 45

Buses = 17

Nodes = 44

Control Mode =5TATIC
Total Iterations = 13
Control Iterations = 3
Max 5ol Iter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1,0588
Min pu. voltage = 0,99057
Total Active Power:
Total Reactive Power: 0.831568
Mvar

2.40879 MW

Clear

al ajael B  amw|n] o))k o nE

Mag demanda: P1 (kW), P2 (kw), P3 (kW)

i
#7 Files que descrevem o circuito

Redirect subestacao.dss
Redirect linecodes.dss
Redirect lines.dss

Redirect loadshape_dss
Redirect loads.dss

Redirect capacitors.dss
Redirect transformer_sub.dss
Redirect transformer.dss
Redirect regulators.dss
Redirect switches.dss

Redirect pysystemexample.dss
P¥System PY_enable=pes

Redirect tensao_base dss

New monitor. PY_powers el T f . 1=1 mode=1 ppol,

pv_up
New monitor. P¥_variables element=P¥System.PV terminal=1 mode=3

Total Active Losses:
MW, (2.204 %)
Total Reactive Losses: 0.1452
Mvar

0.05308!

Tew monitor P¥_voitage VS ystem Py i

asar I

650632

New monitor_d I=1 mode=1 ppol

Frequency = 60 Hz
Mode = Daily

Control Mode = STATIC
Load Model = PowerFlow

File

Edit Do

Set Make

HP\Desktop\openDSS\Paulo_EBxample\DSSFiles\MASTER_RedeT este13Barras. ds:

Tar iy
set number=24|
sel stepsize=1h

solve

Plot

Export Show Visualize
| Source/Fault

Reset Help

v |Vsource v v| ¢ v p|| [®| X g | BaseFrequency =60 Hz

v & gf| B |C:\Users\HP\Desktop\openDSS\Paqu_Example\DSSFi\es\IEEElBBARRAS“

§ ane g
Mag

% md| Al o EEHE &8 2 H

demanda: P1 (kW) P2 (kW), P3 (kW)

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Daily
Number = 24

Load Mult = 1.000
Devices = 45

Buses = 17

Nodes = 44

Control Mode =5TATIC
Total Iterations = 13
Control Iterations = 3

Total Reactive Losses: 0.145279
Mvar

Frequency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Model = PowerFlow

Max 5ol Iter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1,0588

Min pu. voltage = 0,99057

Total Active Power:  2,40879 MW/
Total Reactive Power: 0.831568
Mvar

Total Active Losses:  0.0530838
MW, (2.204 %)

47 P-T curve is per unit of rated Pmpp vz temperature
/7 This one is for a Pmpp stated at 25 deg
New XYCurve MyPvsT npte=4 xarrap=[0 25 75 100] pamay=[1.2 1.0 0.8 0.6]

/7 efficiency curve is per unit eff vs per unit power
New XYCurve MyEff npts=4 xzamay=[.1 .2 .4 1.0] parrap=[.86 .9 .93 .97]

47 per unit inadiance curve [per unit if “inadiance™ property]
New Loadshape.Mylnad npts=24 interval=1 mult=[000000.1.2.3 5 8 91010 99 9 .7 4 10000 0]

47 24-hr temp shape curve
New Tshape MyTemp npts=24 interval=1 temp=[25, 25, 25, 25, 25, 25, 25, 25, 35, 40, 45, 50 60 60 5540 35 30 25 25 25 25 25 25]

47 pv definition

New P¥System.PY phases=32 busl=tafo_pv k¥=0.48 kVA=3000 irad=98 Pmpp=3000

New Transformer.py_up phases=3 xhl=5.750000
~ wdg=1 bus=tralo_pv k¥=0.48 k¥A=750.000000 conn=wye
= wdg=2 bus=680 k¥=4.16 k¥A=750.000000 conn=wye

w0







R s

x m I New item - i Open - [ setectal
L = -

Easy access = Edit gg Select none OpenDSS Data Directory: C\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\

[ Copy path i
Delete Rename New i File Edit Do Set Make Export Show Visualize Plot Reset Help

E| Paste shog - - folder #aHistory EEInvertse\ection E} B’| g B cC Vv P H f‘| w G ‘ |E|ase Frequency = 60 Hz
J: )]

Organize Mew Open Select

b ThisPC » Local Disk () » Program Files » OpenDS5 » Examples » Paulo_Example ,':,:E,mapm..é,micadausp
1/ PEA
# Autor

7 Favorites z Dt modibed Y9; Mome: Eoulo Hadatz t J « Paulo_Example » DSSFiles Search DSSH
A

| i DSSFiles 10/5/2020 407 PM  File folder i Organize Mew folder
& Downloads . Report 10/5/2020 £07PM  File folder {¢Modelegim da rede teste IEEE 1 Jbanee 8 Downloads A Hame Date modified

[ "l Recent places
'ﬁ{ Recent places . Readme 1/8/2016 2:33 AM Text Document

Your team Dropbox "
!/Reinicia o programa

|| capacitors.dss 1/8/2016 2:33 Al
|| command_menitor_pv.dss 1/8/2016 2:33 Al
__| command_monitor storage.dss 1/8/2016 2:33 Al
|| command_monitor_sub.dss 1/8/2016 2:33 Al
|| command_menitor_wind.dss 1/8/2016 2:23 Al

4/ No Apéndice A do meu TCC se encontra toda a explicacdo para rodar os diferente: %2 Your team Dropk

¢& OneDrive
Clear

& OneDrive

o Homegroup

18 This PC
H Desktop
| Documents
j Downloads
_ﬂ Music
EI Pictures
| B Videos
&, Local Disk (C)

4 Files que descrevem o circuito

Redirect subestacao.dss % This PC
o

Redirect loads dss

Redirect capacitors. dss
Redirect transformer_sub. dss
Redirect transformer_dss
Redirect regulators. dss & Pictures
Redirect switches_dss

ct wind_power.dss
IRedirect wind_control.dss

IReditect pysystemexample. dss
IReditect volt_var_pv.dss

" «& Homegroup

File name: |

| linecodes.dss

|| lines.dss

| ] lcads.dss

__| loadshape.dss

|| MASTER RedeTeste13Barras.dss
[] monitor_pv.dss

__| menitor_storage.dss

1/8/2016 2:33 Al
1/8/2016 2:33 Al
1/8/2016 2:33 Al

/8/2016 2:33 Al
1/8/2016 2:33 Al
1/8/2016 2:33 Al
1/8/2016 2:33 Al

|DSS files (-

||Radirart starans nowar dee

Main | MASTER_RedeTeste13Barras.dss

0OpenDSS - C:\Program Files\OpenDSS\IEEET estCases\13Bus\IEEE13Nodeckt.dss




File Edit Do Set Make Export Show Visualize Plot Reset Help

Be|R9BEE B Mivsource) VH‘ v|c v p|| ®|% 9| Base Frequency = 60 Hz
|C'\Users\HP\Desktop\openDSS\Pau\o_ExampIe\DSSFMes\MASTER_RedeTestelBEarras‘ v‘@ @ E‘M H
Results for Actor ID # 1 I 7

CPU selected : 0 1/ Escola Politécnica da USP

Status = SOLVED 1/ PEA

Solution Mode = Dally 11 Autor

Number = 24 I Nome: Paulo Radatz

Load Mult = 1,000 I NUSP: 6305560

Devices = 45 175 1!

Buses = 17

Nodes = 44 1!

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Iter = 5

- Circuit Summary -

Year =0
Hour = 24
Max pu. voltage = 1.0588

Total Reactive Losses: 0145279
Mvar
Frequency = 60Hz
Mode = Daily

Control Mode = STATIC
Load Model = PowerFlow

i
/1 Modelagem da rede teste IEEE 13 barras
i

/7 No Apéndice A do meu TCC se encontra toda a explicagéo para rodar os diferentes cendrios.

i 4!
//Reinicia o programa

Clear

ﬁ Files que descrevem o circuito R i g h 1'_ C I i C k

Redirect

Redirect linecodes. dss Do Selected Ctrl+D
Redirect lines.dss o

Redirect loadshape.dss Save This Window

Redirect loads. dss Close Wind

Redirect capacitors. dss 0se Hindow

Redirect ransformer_sub. dss Change to this Directory

Redirect transformer.dss §
Redirect requlators. dss ‘ Open Selected File
Redirect switches.dss Edit Selected File

IRedirect wind_power.dss
IRedirect wind_control.dss

Change Font...

IRedirect pvsystemexample.dss
IRedirect volt_var_pv.dss

IRedirert shrane nnwer dee

MASTER_RedeTeste138arras.dss |Iine5.d55 | loadshape.dss | Ioadsdssl pusystemexample.dss | subestacao.dss | subestacao.dss

Summary | Results

File Edit Do Set Make Export Show Visualize Plot Reset Help

pol%0[E 8 o SEED

[Fault v VH‘

vBevoe|

C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\MASTER_RedeTestel3Barras. v ‘ & gi

. ‘ X G ‘ |Bﬂse Frequency = 60 Hz

9

Resuits for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Daily
Number = 24

Load Mult = 1.000
Devices = 45

Buses = 17

MNodes = 44

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Iter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu, voltage = 1.0588

Min pu. voltage =0.93057

Total Active Power:  2.40879 MW
Total Reactive Power: 0.881568
Mvar

Total Active Losses:  0,0530833
MW, (2.204 %)

Total Reactive Losses: 0.145279
Myar

Frequency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Model = PowerFlow

- 7
## Dados do equivalente

New Circuit IEEE13BARRAS
~ baseky=119 pu=1.0 phases=3 bus1=5ourceBus
~ Angle=30

~ MYAsc3=1000000000 MVAsc]=1000000000
A B

Code=36 color-Red size=2

1 H

Main | MASTER_RedeTestel3Barras.dss | lines.dss | loadshape.dss | loads.dss le.dss | sub dss | subestacao.dss
pe.

Summary | Results

Messages OpenDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\subestacao.dss

0penDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\MASTER_RedeTeste13Barras.dss

Memory: 20712K

Circuit Status: SOLVED

Total lterations = 13, Control Iterations = 3, Max Solution lterations = 5

Memory: 20712K

C

Circuit Status: SOLVED

Total Iterations = 13, Control lterations = 3, Max Solution Iterations = 5

X N g v P W 0 9 @

5:45 PM
) B ENG Pj”,

11/2¢




File Edit Do Set Make Export Show Visualize Plot Reset Help

File Edit Do Set Make

Export  Show Visualze Plot Reset Help

BelgdE B 8 TEED urce v v@c v e|| #[X J|[BueFeqency=it g AR X N RN o urce o Y vource) v vBe v p|| X P|[BaseFrequency = 60 Hz
|C:\Users\HP\Deslﬁop\openDSS\Pau\o_ExampIe\DSSFl\es\MASTER_RedeTestelBBarras‘ v‘@ ﬁi ‘f‘M “ |C:\Users\HP\Desktop\npenDSS\Pau\o_Examp\e\DSSFiIes\MASTER_RedeTestel3Elarras. v | E i ‘ £ | H

Resuits for Actor 1D # 1 it 1 Results for Actor ID # 1 /1

CPU selected : 0 11 Escola Politécnica da USP CPU selected : 0 /! Dados dos ananjos.

Status = SOLVED /I PEA Status = SOLVED

Solution Mode =Dally 11 dutor Solution Mode = Daily #1601

Number = 24 /1 Nome: Paulo Radatz Number = 24

Load Mult = 1,000 {1 NUSP: B905560 Load Mult = 1,000 New linecode. 601 nphases=3 BaseFreq=60

Devices = 45 it 1 Devices = 45 ~ rmatrix = (0.2153 | 0.0969 0.2097 | 0.0982 0.0954 0.2121)

Buses = 17 Buses = 17 ~ xmatrix = [0.6325 | 0.3117 0.6511 | 0.2632 0.2332 0.6430)

Nodes = 44 1 Nodes = 44 ~ cmatrix = [10.3833 | -3.2894 9.8228 | -2.0759 -1.2225 9.2936)

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3

Total Active Power: 240879 MW
Total Reactive Power: 0.

Mvar
Total Acti
m, (2

Control Mode = STATIC
Load Model = PowerFlow

1.
1 Modelagem da rede teste IEEE 13 barras
1.

11 Files que descrevem o circuito

Redirect subestacao.dss

it linecodes s
Hedirecl lines.dss Do Selected Ctrl+D

Right-click

Redirect biansformer. dss
Redirect requlators.dss
Redirect switches.d:

Change to this Directory
Open Selected File

Control Mode =STATIC
Total Iterations = 13
Control Tterations = 3

Total Active Power: 240879 MW
Total Reactive Power: 0,581568
Mvar

Total Active Losses: 0,0530833
MW, (2,204 %)

Control Mode = STATIC
Load Model = PowerFlow

~ units=km

#1602

Max Sol Iter = 5 1/ No Apéndice A do meu TCC se encontra toda a explicag@o para rodar os diferentes cenarios. Max Sol Iter = 5
New linecode.602 nphases=3 BaseFreq=60

~Cirvit Summary - it 1" - Circuit Summary - ~ rmatrix = [0.4676 | 0.0982 0.4645 | 0.0969 0.0954 0.4621 )

{/Reinicia o progiama ~ xmatrix = [0.7341 | 0.2632 0.7446 | 0.3117 0.2392 0.7526 )
Vear =0 Year =0 ~ cmatrix = [9.3931 | -1.7828 8.5369 | -2.7862 -1.0859 8.9508)
Hour = 24 Clear Hour = 24 ~ units=km
Max pu, voltage = 10538 Max pu. voltage = 1.0588
Min pu. voltage = 0.99057 I " Min pu. voltage = 0.99057 #1603

New linecode.603 nphases=2 BaseFreq=60
~ mmatrix = [0.8261 | 0.1284 0.8226)

~ xmatrix = (0.8370 | 0.2853 0.8431)

~ cmatrix = [7.7626 | -1.4833 7.6902)

Total Reactive Losses: 0.1 Total Reactive Losses: 0. 145272 ~ units=km
Mvar Save This Window L’l\dar woh 4604
Frequency =60 Hz Tequency = r4

Mods = Daiy Redirect bransformer_sub.dss Close Window Mode =Daily

New linecode. 604 nphases=2 BaseFreq=60
~ mmatrix = [0.8226 | 0.12084 0.8261)

~ xmatrix = (0.8431 | 0.2853 0.8370)

~ cmatrix = [7.6902 | -1.4833 7.7626)

IRedirect wind_power. dss EditSelected File ~ units=km
IRedirect wind_control.dss

B Change Font... #1605
IRedirect pysy le. dss

IRedirect volt_var_pv.dss

IRadirart ebarana nnwer doe

MASTER_RedeTeste13Barras.dss ‘Iines.dsslhadshape.dsslbads.dss|pv.-,yslernemmple.dss subestacao.dss | subestacao.dss | linecode

rmatrix =

ode 605 nphases=1 BaseFreq=60
[0.82539)

in 8177

Main |MASTER_RedeTe§tel3Banas.dss|Iine.-;.ds-;lk)adshape.dal;lk)ads.dsslpvsysternemmple.ds-; subestacao.dss | subestacao.dss | linecodes.dss

Messages OpenDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\linecodes.dss

Messages 0OpenDSS - C:\Users\HP\Desktop\openDSS\Paulo_Bxample\DSSFiles\MASTER_RedeTeste13Barras.dss

Results
summary Results Summary| ul ‘

Memaory: 20712K Circuit Status: SOLVED Total lterations = 13, Control lterations = 3, Max Solution lterations = 5




File

ER=R 3= |

Edit Do Set Make

Export Show Visualize Plot Reset Help

o | e al

1]

v p || |®|X G| BaseFrequency = 60 Hz

Be §9ER B

File Edit Do Set Make Export Show Visualize Plot Reset Help

v|

ll

v‘ ¢ v p|| ®|X §|BueFrequency= 60 Hz

| C:\Users\HP\Desktop\openD55\Paulo_Example\DSSFiles\MASTER_RedeTestel3Barras. v | B :f

9|

|C:\Users\HP\Deskkop\openDSS\Pau\o_Examp\e\DSSFHes\MASTER_RedeTestelBBarras‘ v ‘ & al

3|

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Daily
Number = 24

Load Mult = 1.000
Devices = 45

Buses = 17

Nodes =44

Control Mode =5TATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Iter =5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1.0588
Min pu. voltage = 0.99057

Mvar

Total Active Lo

MW, (2,204 %)

Total Reactive L

Mvar

Freguency = 60 Hz
Mode = Daily

Control Mode = STATIC
Load Model = PowerFlow

#H

/1 Escola Politécnica da USP
' PEA

1 Autor

1 Nome: Paulo Radatz
I NUSP: £305560

H

#H
1/ Modelagem da rede teste IEEE 13 banas
I

4/ No Apéndice A do meu TCC se enconbra toda a explicag3o para rodar os diferentes cenarios.

#H
4/Reinicia 0 programa

Clear

i
Total Active Power:  2.40879 MW 1 Files que descrevem o circuito
Total Reactive Power: 0.831563

Redirect subestacao.dss
Redirect linecodes.dss
Redirect 3}

Redirect loadshape.dss
Redirect loads. dss

Redirect capacitors.dss
Redirect transformer_sub.dss
Redirect transformer.dss
Redirect regulators dss

Do Selected
Save This Window
Close Window

Change to this Directory

Ctrl+D

Redirect switches.dss

Open Selected File

IRedirect wind_power_dss
IRedirect wind_control.dss

IRedirect pvepstemexample.des

Edit Selected File

Change Font...

IRedirect volt_var_pv.dss

IRadirart ehnrans nnwar dee

Results for Actor D # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Daily
Humber = 24

Load Mult = 1,000
Devices = 43

Buses = 17

Nodes = 44

Control Mode =STATIC
Total Iterations = 13
Control Tterations = 3
Max Sol Tter = 5

- Circuit Summary -

Year =0

Hour =24

Max pu. voltage = 1.0588

Min pu. vdltage = 0.93057

Total Active Power:  2.40879 MW
Total Reactive Power: 0881568
Mvar

Total Active Losses: 0,0530838
MW, (2.204 %)

Total Reactive Losses: 0, 145279
Mvar

Frequency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Model = PowerFlow

Main | MASTER_RedeTeste13Barras.dss |lines.dss | loadshape.dss | loads.dss | pvsystemexample.dss | lines.dss|

summary ‘ Results|

Messages OpenDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\MASTER_RedeTeste13Barras.dss

m

M

New Line 650632
New Line 632670
New Line 670671
New Line 671680
New Line 632633
New Line 632645
New Line 645646
New Line.692675
New Line 671684
New Line 684611
New Line 684652

//Dados das linhas.
10beservah§Ato: Na banra 670 A@ colocado o equivalente da carga distribuAda.

Phases=3 Bus1=Reg.1.2.3

Phases=3 Bus1=632.1.2.3
Phases=3 Bus1=670.1.2.3
Phases=3 Bus1=671.1.2.3
Phases=3 Bus1=632.1.2.3
Phases=2 Bus1=632.3.2
Phases=2 Bus1=645.3.2
Phases=3 Bus1=692.1.2.3
Phases=2 Bus1=671.1.3
Phases=1 Bus1=684.3

Phases=1 Bus1=664.1

Bus?=632.1.2.3 LineCode=601 Length=2000 units=ft
Bus2=670.1.2.3 LineCode=601 Length=667 units=ft
Bus2-671.1.2.3
Bus2-680.1.2.3
Bus2-633.1.2.3
Bus?-645.3.2  LineCode=603 Length=500 uni
Bus?=646.3.2 LineCode=603 Length=300 uni
Bus2=675.1.2.3 LineCode=606 Length=500 u
Bus?=6841.3 LineCode=604 Length=300 units=ft
Bus?-611.3  LineCode=605 Length=300 units=ft
Bus2=692.1  LineCode=607 Length=800 units=ft

t

Main | MASTER_RedeTeste13Barras.dss | lines.dss | loadshape.dss | loadsdssl pvwstemexample.dss‘ lines.dss ‘

Summary | Results

Messages OpenDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\lines.dss

Memory: 20712K

Circuit Status: SOLVED

Total lterations = 13, Control Iterations = 3, Max Solution Iterations = 5

Memory: 20712K

Circuit Status: SOLVED

Total Iterations = 13, Control [terations = 3, Max Solution fterations = 3







File Edit Do Set Make Export Show Visualize Plot Reset Help

Po|RAE A 0O EE v v@e v || ®|X @ |[Base Froquoncy = 61 Bz

C:\Users\HP\Desktop\openDS5\Paulo_Example\DSSFiles\MASTER_RedeTestel3Barras. | Fr] gf | b ‘W‘arning: Duplicate new element definition: "Transformer.SubestzGo"E“

Results for Actor ID # 1 |2 H
CPU selected : 0 /#Curvas de carga

Status = SOLVED
Solution Mode = Daily Mew Loadszhape.1 npts=24 interval=1 mult=(0.18000001 0.19000000 0.23999999 0.33000001 0.38933999 041000000 0.64999938 1.23000002 1.88999999 1.88999999 1.96000004 1.98000002 1.450000(
Mumber = 24 Imult=[File=Load5hapel.cs¥]

Load Mult = 1.000
Devices = 45 New Loadshape.2 npts=24 interval=1 mult=(0.63000000 0.50 0.4 0.41 0.55000001 085000002 101933398 0.80000001 0.83333338 0.91000003 1.02999997 1.03399996 1.110000(
Buses = 17 Imult=[File=LoadShape2.csv]

Nodes = 44
Control Mode =STATIC I 1
Total Iterations = 13
Control Iterations = 3
Max Sol Tter = 5

- Circuit Summary -

‘ear =0

Hour = 24

Max pu. voltage = 1.0588

Min pu. voltage = 0.99057
Total Active Power:  2.40873 MW/
Total Reactive Power: 0,881563
Mvar

Total Active Losses: 0.05308338
MW, (2,204 %)

Total Reactive Losses: 0.145279
Mvar

Frequency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Model = PowerFlow

<
| Main | MASTER_RedeTestel3Barras.dss | lines.dss | loadshape.dss | loads.dss | pvsystemexample.dss | Iines.d55| loadshape.dss | loads.dss | capacitors.dss

mﬁ[}penDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\loadshape.dss

Summary |RBEU|15|

Mermory: 25416K Circuit Status: SOLVED Total | ions = 13, Control |




File Edit Do  Set Make

ER=N =

Export Show Visualize
JlSource/Faut]

Plot

Reset Help

La|Vsource|

4l

- | g | |Base Frequency = 60 Hz

v@ e v el

o |‘u'\.'arning: Duplicate new element definition: "Transformer.SubesGGo"E“

Results for Actor ID # 1
CPU selected : 0
Status = SOLVED
Solution Mode = Daily
Mumber = 24

Load Mult = 1.000
Dewvices = 45

Buses = 17

Modes = 44

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Tter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1.0538

Min pu. voltage = 0.99057

Total Active Power:  2.40879 MW
Total Reactive Power: 0.831558
Mvar

Total Active Losses:
MW, (2,204 36)
Total Reactive Losses: 0.145279
Mwar

Freguency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Maodel = PowerFlow

0.0530833

i

27
7/ Dados das cargas

Mew Load.634a Bus1=634.1
New Load 634b Bus1=634.2
New Load 634c Bus1=634.3
Mew Load. 645 Bus1=645.2
New Load 646 Bus1=646.2.3
New Load 692 Bus1=692.3.1
MNew Load 675a Bus1=675.1
MNew Load 675b Bus1=675.2
New Load 675c Bus1=675.3
MNew Load 611 Bus1=611_3
New Load 652 Bus1=652_1
Mew Load 670a Bus1=670.1
New Load 670b Bus1=670.2
MNew Load 670c Bus1=670.3

HNew Load 671 Bus1=671.1.2.3 Phases=3 Conn=Delta Model=1 daily=
Phages=1 Conn=%ye Model=1 daily=
Phazes=1 Conn=wye Model=1 d
Phaszes=1 Conn=%Wye Model=1 dai
Phases=1 Conn=Wve Model=1 da
Phases=1 Conn=Delta Model=2 dai
Phases=1 Conn=Delta Model=5 da

Phasez=1 Conn=%Wye
Phasez=1 Conn=%Wye
Phasez=1 Conn=Wye
Phazes=1 Conn=wye
Phazes=1 Conn=wye
Phaszes=1 Conn=Wye
Phasez=1 Conn=%Wye
Phasez=1 Conn=%Wye

16 k'w=1155 kvar=660
277 kKwW=160 kvar=110
kKw=120 kvar=90
kKw=120 kvar=90
kw=170 kvar=125
kw'=230 kvar=132
kw=170 kvar=151
kKw=485 kvar=190
kw=68 kvar=60
kKw=290 kvar=212
kw=170 kvar=80
kw=128 kvar=B6
kKw=17 kvar=10
kw=66 kvar=38
kw=117 kvar=68

=

\J=

]
]
-

LLbEssr
[=r]

3L
NNNNRRNR
B e g e

[T T
-
[=r]

Model=1 daily=
Model=1 daily=2
Model=1 daily=

EEEEEEEE******

2

Main MASTER,_| Testel3Barras. ines. = 5 stemexample. ines. . loads.dss | ca itors.
Rede dss || dss | loadshape.dss | loads.dss | pvsy ple.dss | | dss | loadshape.dss pac dss

Summary |R£=5U|l5|

Messages OpenDSS - Ci\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\loads.dss

Memory: 25416K

Circuit Status: SOLVED

Total lterations = 13, Control lterations = 3, Max Solution lterations = 5




File Edit Do Set Make Export Show Visualize Plot Reset Help
e | X905 o EET  CEmE “II] /@ ec v p|| ®|X @ |[Base Frequency = 60 Hz
C:\Users\HP\Desktop\openDSSYPaulo_Example\DSSFiles\MASTER,_RedeTestel3Barras. vll:-' af| -ﬁ-lWEming: Duplicate new element definition: "Transformer.SubesGmo"EH

Results for Actor ID # 1 les )
CPU selected : 0 2/ Dados dos capacitores.

Status = SOLVED
Solution Mode = Daily Hew Capacitor.Capl Bus1=675 phaszes=3 kvar=600 k¥=4_16
Mumber = 24 Mew Capacitor.Cap2 Bus1=611_3 phases=1 kvar=100 k¥=2.4
Load Mult = 1.000
Devices = 45 i
Buses = 17

Modes = 44

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Tter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1.0588

Min pu. voltage = 0.99057

Total Active Power:  2.40879 MW
Total Reactive Power: 0.881568
Muwar

Total Active Losses: 0.0530838
MW, (2.204 %)

Total Reactive Losses: 0.145279
Muwar

Freguency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Model = PowerFlow

Main | MASTER_RedeTestel3Barras.dss | lines.dss | loadshape.dss | loads.dss stemexample.dss | lines.dss | loadshape.dss | loads.dss | capacitors.dss
pe pvsy: pl pe. p

Messages QpenDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\capacitors.dss

Summary |R65U|t5|

Memory: 25416K Circuit Status: SOLVED Total lterations = 13, Control [terations = 3, Max Solution Iterations = 3




File Edit Do 5Set Make Export Show Visualize Plot Reset Help
po | RGBSR OFEET . Em v B e v p|| ®|X P |[Base Frequency = 60 Hz
C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\MASTER_RedeTestel3Barras. vlb aé| £ |‘u’u’aming: Duplicate new element definition: "Transformer.SubesGmo"H

Results for Actor ID # 1 A '
CPU selected : O /¢ Dados do transformador.

Status = SOLVED
Solution Mode = Daily Hew Transformer XFM1 phaszes=3 windings=2 xhl=2

Mumber = 24 ~ wdg=1 bus=633 conn=wye k¥=4.16 kva=500 Zr=55
Load Mult = 1.000 = wdg=2 bus=634 conn=wye k¥=0.480 kva=500 Xr=55
Devices = 45
Buses = 17
Modes = 44 L
Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Iter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1.0588

Min pu. voltage = 0,99057

Total Active Power:  2,40379 MW
Total Reactive Power: 0.881568
Muwar

Total Active Losses: 0.0530338
MW, (2,204 %)

Total Reactive Losses: 0.145279
Muwar

Freguency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Model = PowerFlow

| Main | MASTER_RedeTestel3Barras.dss I lines.dss | loadshape.dss | loads.dss | pvsystemexample.dss | transformer.dss | regulators.dss | switches.dss

Messages OpenDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\transformer.dss

Summary |REEU"35|

Memaony: 25416K Circuit Status: SOLVED Total lterations = 13, Control lterations = 3, Max Solution |terations = 5




File Edit Do Set Make

Export Show Visualize

Be %a DS o ETET

Plot Reset Help

B[ <ouce) ol

C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\MASTER_RedeTestel3Barras. « | = af

V| c v P || ® | X 3 | |Base Frequency = 60 Hz
£ |‘u'\.'aming: Duplicate new element definition: "Transformer.SubesGGo"E“

Results for Actor ID # 1
CPU selected : O
Status = SOLVED
Solution Mode = Daily
MNumber = 24

Load Mult = 1.000
Devices = 45

Buses = 17

Modes = 44

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Iter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1.0588

Min pu. voltage = 0.99057

Total Active Power:  2.40879 MW
Total Reactive Power: 0.831558
Mvar

Total Active Losses:
MY, (2,204 9%)
Total Reactive Losses: 0.145279
Mvar

Frequency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Madel = PowerFlow

0.0530838

¢4

2

Zf Dados dos reguladores.

/fFasze A

MHew Transformer RegFazeA phazes=1 xhl=0.01 ¥LoadlLoss=0.001
- wdg=1 bus=650.1 k¥=24 kva=1666_7

- wdg=2 buz=Reg.1 k¥=2.4 kva=1666.7

MHew regcontrol. RegFaseA transformer=RegFaszehA

= winding=2 wreg=122 band=2 ptratio=20 ctprim=¥00 R=3 X=9

//Faze B

MHew Transformer RegFazeB phazes=1 xhl=0.01 ¥LoadlLoss=0.001
- wdg=1 bus=650.2 k¥=24 kva=1666_7

- wdg=2 buz=Reqg.2 k¥=2.4 kva=1666.7

MHew regcontrol. RegFaseB tranzformer=RegFazeB

= winding=2 wreg=122 band=2 ptratio=20 ctprim=¥00 R=3 X=9

/fFasze C

MHew Transformer RegFazeC phazes=1 xhl=0.01 ¥LoadlLoss=0.001
- wdg=1 bus=650.3 k¥=24 kva=1666_7

- wdg=2 buz=Reqg.3 k¥=24 kva=1666.7

MHew regcontrol. RegFaseC transformer=RegFaszelC

= winding=2 wreg=122 band=2 ptratio=20 ctprim=¥00 R=3 X=9

2

| Main I MASTER_RedeTestel3Barras.dss I lines.dss I loadshape.dss I loads.dss | pvsystemexample.dss | transformer.dss | regulators.dss | switches.dss

Summary |R65U||35|

Messages QpenDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\regulators.dss

Memorny: 253416K

Circuit Status: SOLVED

Total lterations = 13, Control Iterations = 3, Max Solution lterations = 5



File Edit Do 5Set Make Export Show Visualize Plot Reset Help
CHCAR X0 B ANl ouce /o R <ourcel vl /@ e v p|| ®|X P |[BaseFrequency = 60 Hz
C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\MASTER_RedeTestel3Barras. vlb z{‘| -ﬁ-l\n’\.’aming: Duplicate new element definition: "Transformer.SubesGmo"E”

Results for Actor ID # 1 27 A
CPU selected : 0 /F Switch

Status = SOLVED
Solution Mode = Daily Hew Line. 671692 Phases=3 Bus1=671 Bus2=692 Swilch=y
Mumber = 24
Load Mult = 1.000 I
Devices = 45

Buses = 17

MNodes = 44

Control Mode =STATIC
Total Iterations = 13
Control Iterations = 3
Max Sol Iter = 5

- Circuit Summary -

Year =0

Hour = 24

Max pu. voltage = 1.0588

Min pu. voltage = 0.99057

Total Active Power:  2,40373 MW
Total Reactive Power: 0.831563
Mwar

Total Active Losses: 0.0530833
MW, (2,204 %)

Total Reactive Losses: 0.145279
Mwar

Freguency = 60 Hz

Mode = Daily

Control Mode = STATIC

Load Model = PowerFlow

| Main I MﬁSTER_RedeTeslelaBarras.dssl Iines.dssl loadshape.dss I loads.dss | pvsystemexample.dss | transformer.dss | regulators.dss | switches.dss

Messages OpenDSS - C:\Users\HP\Desktop\openDSS\Paulo_Example\DSSFiles\switches.dss

Summary |R-65U||35|

Memorny: 25416k Circuit Status: SOLVED Total lterations = 13, Control lterations = 3, Max Solution lterations = 5




